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[4070]-101
M. Com. (Semester - 1) (Compulsory) Examination - 2011
MANAGEMENT ACCOUNTING
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instruction :

All questions are compulsory and carry equal marks.

Q.1) Define the term 'Management Accounting'. Explain its various tools and
techniques.

OR

Q.1) What do you mean by 'Analysis and Interpretation of Financial Statements’.
Explain various methods of such analysis with their comparative merits and
demerits.

Q.2) The following are the Balance Sheets of FUNFLOW Limited, Pune, prepared
as on 31st March, 2010 and 31st March, 2011 :

Liabilities 31-03-10 | 31-03-11 Assets 31-03-10 | 31-03-11
Share Capital 11,00,000 | 12,00,000 | Land and Building 10,00,000 | 9,00,000
General Reserve 2,00,000 | 2,50,000 |Plant and Machinery | 5,50,000| 7,40,000
Share Premium - 50,000 | Furniture 1,80,000 | 2,40,000
Profit and Loss A/c. | 3,20,000 | 3,00,000 [ Investments 3,79,000 | 3,50,000
Bank Loan 3,00,000 | 2,80,000 | Sundry Debtors 2,45,000 ( 2,81,000
16% Debentures 3,50,000 [ 2,00,000 | Stock 97,000 79,000
Sundry Creditors 75,000 65,000 | Cash 49,000 40,000
Bills Payables 55,000 70,000 | Discount on Issue
Proposed Dividend | 1,00,000 | 1,50,000 of Shares 5,000 -
Provision for Preliminary Expenses 55,000 20,000

Taxation 60,000 85,000

25,60,000 | 26,50,000 25,60,000 | 26,50,000
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You are required to prepare Fund Flow Statement with necessary working
notes after considering the following information :

(1) All the fixed assets are depreciated by 10% of the opening balance.
(2) The 16% debentures were redeemed at 5% premium.
(3) During the year Rs. 75,000 are paid by way of taxes.

(4)  The furniture of Rs. 1,38,000 was purchased during the year and some
of the old furniture was sold at 60% loss.

(5) A machine having book value Rs. 60,000 was destroyed by fire and
was sold as scrap for Rs. 6,000 only.

(6) Shares are issued at premium as a part payment of the new machinery
purchased during the year. The balance payment of the machinery
was made in cash.

Q.3) From the following information relating to NOTWORTH Limited, Pune, you
are required to prepare its summarized Balance Sheet with as much details

as possible :

. Current Ratio 2.5
. Acid Test Ratio 1.5
. Gross Profit to Sales 0.2
. Net Working Capital to Net Worth 0.3
. Sales to Fixed Assets 2.0
. Sales to Net Worth 1.5
. Sales to Debtors 6.0
. Reserves to Capital 1.0
. Net Worth to Long Term Loan 20.0
. Stock Turnover Ratio 6.0
. Paid up Share Capital Rs. 10,00,000

OR

Q.3) Explain meaning, objectives and structure of Responsibility Accounting as
a Divisional Performance Measurement.
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Q.4) Mr. SUPERWISE has furnished you the following estimated information for
the next financial year during which he has intended to produce 10,000 units
per week :

Sales Price is Rs. 60 which is 150% of the Cost.

The cost of one unit consists of raw material, labour cost and
overheads in the ratio of 5:3:2.

60% of the overheads consists of depreciation on fixed assets. The
remaining overheads are paid two weeks in arrears.

The Stock of Raw Material must be equal to the 3 weeks requirement
and the finished goods must be equal to the half of the sales of the
next month.

The Work-in-Progress will remain in stock for two weeks for which
labour cost and overheads should be considered at 40% and 60%
completion stage respectively.

10% of the purchases are made on cash basis and the remaining with
one month credit.

20% of the sales are made on advance payment of one month while
the remaining are made with forty five days credit period.

70% of the wages are payable to the skilled workmen on monthly
basis while the remaining wages are payable to the unskilled workmen
on weekly basis.

Add 10% of your computation for contingency.

You are required to prepare a statement showing estimated amount of
working capital assuming one month consists of four weeks.
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Q.4) (A)

(B)

PUC Limited has sold 10,000 units at Rs. 300 per unit during the
year ended on 31st March, 2011. The variable cost is two third of
the sales price and the fixed cost during the last year was Rs. 50
per unit. Currently the company allows one month credit period to
its customers which the company wants to change. The following two
proposals are under consideration :

Particulars Existing Plan-A Plan-B
Credit Period 1 Month 2 Months 3 Months
Increase in Sales - 15% 30%
Bad Debts 1% 3% 5%

It is likely that fixed cost will increase by Rs. 1,00,000 when the sales
will increase by 25% of the current sales level. The Company expects
20% returns on its investments.

Which of the proposed credit policies is the best for the Company ?

What is 'Inventory Management' ? Explain in brief the various
techniques of Inventory Control.

Q.5) Write notes on any two of the following :

@)
(b)
(©)

Role of Management Accountant
Difference between Management Accounting and Financial Accounting

Importance and Limitations of Ratio Analysis
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M. Com. (Semester - 1) (Compulsory) Examination - 2011
STRATEGIC MANAGEMENT
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions :

(1) All questions are compulsory.

(2) All questions carry equal marks.

Q.1) Define the term ‘Strategic Management’. Describe Strategic Management
Process.

OR
Q.1) What do you mean by *Strategic Implementation” ? Distinguish between
Strategy Formulation and Strategy Implementation.
Q.2) What is Strategic Planning ? Explain advantages and disadvantages of
Strategic Planning.
OR
Q.2) Write notes :
(@ Generating Strategic Alternatives
(b) Strategic Options at Corporate Level
Q.3) What is ‘SWOT Analysis’ ? How does a Business Organisation use SWOT
Analysis for effective Strategy ?
OR

Q.3) What are the areas/issues in Finance where Strategy Formulation is required ?
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Q.4) What are the responsibilities of Human Resource Management ?
OR
Q.4) Write notes :
(@ Total Quality Management (TQM)
(b)  Six-Sigma

Q.5) Write short notes : (Any Four)
(@ Strategic Management
(b) Strategic Planning
(c) Mergers
(d)  Manpower Planning
() Marketing Strategy
()  Logistics Strategy
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Time :

[4070]-103

M. Com. (Semester - 1) Examination - 2011
ADVANCED ACCOUNTING AND TAXATION
SPECIAL PAPER - |
ADVANCED ACCOUNTING
(Group - A)
(2008 Pattern)
3 Hours] [Max. Marks : 100

Instructions :

(1) All questions are compulsory and carry equal marks.
(2) Give working notes wherever necessary.
(3)  Use of pocket calculator is allowed.

Q.1)

Q.1)

Q.2)

Discuss various concepts and conventions in Accounting.
OR

Write short notes : (Any Two)

(a) Advantages and Disadvantages of Leasing

(b) Professional Development of Accounting in India

(¢c) Need for Valuation of Shares and Goodwill

The following is the Trial Balance of the Nairobi Branch of S Ltd.
of Pune as on 31st March, 2010 :

Particulars Shillings Shillings
Land and Buildings 1,50,000 -
Plant and Machinery 3,00,000 -
Furniture and Fittings 20,000 -
Stock as on April 1, 2009 56,000 -
Purchases 2,40,000 -
Goods received from Head Office 80,000 —
Wages 30,000 —
Carriage Inwards 5,000 -
Sales - 6,16,000
Salaries 25,000 -
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Particulars Shillings Shillings
Rent, Rates and Taxes 5,000 -
Insurance 4,000 -
Trade Expenses 3,000 -
Head Office Account - 2,40,000
Sundry Creditors - 18,000
Sundry Debtors 30,000 —
Cash in Hand and at Bank 10,000 -
Bills Payable — 84,000

Total 9,58,000 9,58,000

The Stock on 31st March, 2010 was 30,000 shillings. The following
were the exchange rates :

When Fixed Assets were acquired Re. 1 = 1.50 shillings
On April 1, 2009 Re. 1 = 0.90 shillings
On March 31, 2010 Re. 1 = 0.92 shillings
Average Re. 1 = 0.91 shillings

Goods from head office were invoiced in head office books at Rs. 90,000.
The Branch Account in head office books shows a debit balance of
Rs. 1,62,000. Convert Nairobi Trial Balance and prepare Nairobi Trading
and Profit and Loss Account after charging 10% depreciation on Plant and
Machinery and Furniture and Fittings in head office books.

Q.3) A Ltd. acquired control of B Ltd. and C Ltd. on 1st April, 2009. The
respective Balance Sheets on March 31, 2010 were :

Capital and Liabilities A Ltd.(Rs.) | B Ltd. (Rs.) |C Ltd. (Rs.)
Equity Shares of Rs. 10 each 4,50,000 2,40,000 1,50,000
General Reserve 30,000 - -
Profit and Loss Account 1,35,000 39,000 33,000
Trade Creditors 72,000 — —
Loan from A Ltd. - 66,000 36,000
Bills Payable to A Ltd. - - 9,000

Total 6,87,000 3,45,000 2,28,000
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Capital and Liabilities A Ltd.(Rs.) | B Ltd. (Rs.) |C Ltd. (Rs.)
Assets and Properties :
Fixed Assets 93,000 1,08,000 66,000
Investments in Subsidiaries :
18,000 Shares in B Ltd. 2,25,000 — -
12,000 Shares in C Ltd. 1,50,000 - -
Loan to B Ltd. 12,000 - -
Stock 78,000 72,000 48,000
Debtors 84,000 1,44,000 81,000
Bills Receivable from C Ltd. 6,000 - -
Bank 39,000 21,000 33,000
Total 6,87,000 3,45,000 2,28,000

Notes : (1) Balance on P and L A/c. on 1st April, 2009 :
A Ltd. Rs. 78,000, B Ltd. Rs. 27,000, C Ltd. Rs. 24,000
Dividends proposed for 2009-10 :
A Ltd. 20%, B Ltd. 12%, C Ltd. 15%

(2) The Fixed Assets of B Ltd. include plant purchased in
September, 2009 from C Ltd. for Rs. 3,000. The Cost to C
Ltd., who are plant manufacturers, was Rs. 2,250 and credit
for the profit has been taken by that company.

(3) B Ltd. held on March, 2010 Stock of Rs. 6,000 purchased
from A Ltd. who invoiced the goods at cost plus 25%.

(4) The loan by A Ltd. was made on October 1, 2009 and carried
15% interest for which no entry has been made in the books.

Prepare a Consolidated Balance Sheet on March 31, 2010, ignoring taxation.

Q.4) Mr. Niranjay is appointed liquidator of Moon Co. Ltd. in voluntary
liquidation on 1st July, 2010. Following balances are extracted from the
books on that date :

Rs. Rs

Capital : Machinery 2,25,000

1,20,000 Shares of Leasehold Properties 3,00,000
Rs. 5 each 6,00,000

Reserve for Bad Debts 75,000 | Stock-in-trade 7,500

Debentures 3,75,000 | Book Debts 4,50,000

Bank Overdraft 1,35,000 | Investments 45,000

Liabilities for purchases 1,50,000 | Calls-in-Arrears 37,500

Cash in Hand 7,500

Profit and Loss Account | 2,62,500

Total 13,35,000 Total 13,35,000
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Q.5)

You are required to prepare a Statement of Affairs to the Meeting of
Creditors. The following assets are valued as under :

Machinery Rs. 4,50,000
Leasehold Properties Rs. 5,45,000
Investments Rs. 30,000
Stock-in-Trade Rs. 15,000

Bad Debts are Rs. 15,000 and the Doubtful Debts are Rs. 30,000 which
are estimated to realize Rs. 15,000. The Bank Overdraft is secured by deposit
of the title of Leasehold Properties. Preferential Creditors are Rs. 7,500.
Telephone Rent Outstanding is Rs. 600.

On March 31, 2010, the Balance Sheet of Sameera Ltd. disclosed the
following position :

Liabilities Rs.'000 | Assets Rs.'000
Share Capital of Rs. 10 each Goodwill 800
fully paid 8,000
General Reserve 3,800 | Other Fixed Assets 10,000
Profit and Loss Account 2,400 | Current Assets 8,000
14% Debentures 2,000
Current Liabilities 2,600
Total 18,800 Total 18,800

On the above mentioned date, the tangible fixed assets were independently
valued at Rs. 7,000 thousand and Goodwill at Rs.1,000 thousand. The net
profits for the three years were : 2007-08 - Rs. 2,064 thousand; 2008-09 -
Rs. 2,080 thousand and 2009-10 - Rs. 2,066 thousand of which 20% was
placed to General Reserve, this proportion being considered reasonable in
the industry in which the company is engaged and a fair return on investment
may be taken at 18%. Compute value of the company's share by
(i) the Net Assets Method and (ii) the Yield Method. Ignore taxation.
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[4070]-104
M. Com. (Semester - 1) Examination - 2011
ADVANCED ACCOUNTING AND TAXATION
SPECIAL PAPER - 11
INCOME TAX
(Group - A)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

(3) Read all the questions very carefully before attempting the
same.

(4) Use of calculator is allowed.

Q.1) Answer any two of the following : [15]

(@) State provisions relating to compulsory maintenance of Accounts
and Audit.

(b) State difference between Capital and Revenue Receipts.

(c) What is “‘Annual Value’ ? How it is determined u/s 23 of the
Income Tax Act, 1961 ?

(d) How would you determine Residential Status of an Individual
and HUF Assessee ?
Q.2) Write short notes : (Any Three) [15]
(@ Assessee
(b) Leave Encashment
(c) Set Off of Losses u/s 70 (Inter-source Adjustment)
(d) Deductions u/s 54 (any two)
() Meaning of Salary
()  Methods of Accounting

[4070]-104 1 P.T.O.



Q.3) From the following particulars of Mr. A, compute his Total Income

and Tax Liability for Assessment Year 2012-13 :

(1) Salary from A Ltd. Rs. 13,000 p.m.
(increased to Rs. 15,000 w.e.f. 1-10-2011)

(2) Bonus

(3) Dearness Allowance
(not considered for retirement benefits)

(4) Entertainment Allowance

(5) Employer’s Contribution to RPF
(6) Employee’s Contribution to RPF
(7) Interest on RPF @ 9.5%

(8) Personal Expenses of A’s son met by the
employer

(9) Rentfree Unfurnished House provided by the
Employer, at Delhi whose annual rental value is

(10) Watchman’s Salary paid by Employer

(11) Medical Expenses of the Employee reimbursed
by the Employer

(12) Personal Club Bill of the Employee reimbursed
from the Employer

(13) Lottery Income (Net and TDS 30%)

(14) Unit Linked Insurance Plan Contribution paid by
the Employer

(15) He purchased 6 years NSC (VIII Issue)

(16) Car provided by Employer for official purpose
only. Driver’s Salary Rs. 1,000 paid by the
Employer (Car is of 1800 CC)

[16]
Rs.
1,68,000

16,000
18,000

8,000
25,000
25,000
22,000

10,000

96,000
6,000

12,000

2,400
70,000

6,000
18,000

He was provided with rentfree house till November, 2011 for a period
of 8 months only during 2011-12, after which he shifted to his own
house. He continued to enjoy facility of a watchman for his own house

also.
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Q.4) Mr. A (age 50 years), a leading tax consultant, who maintains books

of accounts on cash basis furnishes the following particulars of Income
and Expenditure for the Assessment Year 2012-13 :

Receipts and Payments Account
for the year ending 31-3-2012

Receipts Rs. | Payments Rs.
Balance b/d. 12,400 | Purchase of Typewriter 6,000
Fees from Clients : Car Expenses 18,000

- of 2011-12 7,30,500 | Office Expenses 40,000

- of 2010-11 1,11,500 | Salary to Staff :

- of 2012-13 1,13,000 - 2011-12 32,000
Present from Clients 24,000 - 2012-13 11,000
(for services rendered) Expenses in respect
Interest free Loan from of Let out Property 6,000

a Client for purchase (Municipal Taxes

of a Car 2,38,000 Rs. 2,000, Repairs

and Insurance
Rs. 4,000)
Winnings from Lottery 46,000 | Car Purchased on
(Gross) December 10, 2011 | 2,40,000
Interest from UTI 12,000 | Repairs of Office 12,000

(received on September,

10, 2011) Interest on Loan 10,000
Rent of a Let out Income Tax Payment 15,800

Property 60,000 (including TDS)

Share of Income Life Insurance Premium| 8,000

from a Firm 15,000 | Balance c/d. 9,63,600

13,62,400 13,62,400

Car is partly used for official purposes (40%) and partly for private
purposes (60%). The depreciation allowable as per rules @ 15% per
annum on Typewriter and Car.

Determine Taxable Income and Tax Liability of Mr. A for the
Assessment Year 2012-13.
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Q.5) For the Assessment Year 2012-13, Mr. A (age 66 years) submits the
following information :

Income from Business Rs. 2,92,000.

Particulars House-I House-11
(Rs.) (Rs.)
Fair Rent (FR) 3,50,000 3,20,000
Municipal Valuation (MV) 3,60,000 3,50,000
Standard Rent (SR) 3,00,000 5,00,000
Annual Rent (AR) 6,00,000 4,20,000
Unrealised Rent of Previous Year 2011-12 10,000 80,000
Vacant Period (No. of Months) 2 4
Loss on Account of Vacancy 1,00,000 1,40,000
Municipal Taxes paid 40,000 50,000
Repairs 5,000 7,000
Insurance 20,000 30,000
Interest on Capital borrowed by
Mortgage of the House 1,40,000 -
Nature of Occupation Let out for |Let out for
Residence Business

Determine Taxable Income and Tax Liability of Mr. A for the
Assessment Year 2012-13 assuming that Mr. A pays Rs. 60,000 in the

Public Provident Fund Account. [16]
Q.6) (A) X was the owner of the following assets :

Assets Year of Cost Fair Market

Purchase (Rs.) Value on

1-4-1981

(Rs.)

Gold 1976-77 70,000 91,000
Listed Shares in A Ltd. | 1972-73 | 2,73,000 1,82,000

X died on 16-8-1993 and as per his will these assets
get transferred to his son B. B now sells these assets on
10-10-2011 for a total consideration of Rs. 26,00,000 (Gold
Rs. 19,00,000 and Shares Rs. 7,00,000).
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(B)

Find out the amount of capital gains chargeable to tax for the
Assessment Year 2012-13 assuming that shares were sold through
recognized Stock Exchange and Securities Transaction Tax was
paid on Sale. CII for the Financial Years 1981-82, 1993-94 and

2011-12 is 100, 244 and 785 respectively. [10]
Mr. M, a resident individual, submits the following information,
relevant to the previous year ending 31-3-2012 :

Particulars Rs.
Income from Salary (Computed) 60,000
Income from House Property :

- House - | 12,000
- House - Il (-) 50,000
- House - Il (Self Occupied) (-) 10,000
Profits and Gains of Business/Profession :

- Business - | 8,000
- Business - 11 (=) 12,000
- Business - Il (Speculative) (-) 64,000
- Business - IV (Speculative) 36,000
Capital Gains :

- Short Term Capital Loss (-) 6,000
- Long Term Capital Gain on Transfer

of Shares 5,400

Income from Other Sources (Computed) :

- Income from Card Games 36,000

- Income from Betting 24,000

- Loss on Maintenance of Race Horses (-) 4,600
Determine Gross Total Income for the Assessment Year

2012-13. [12]
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[4070]-105

M. Com. (Semester - 1) Examination - 2011
ADVANCED COST ACCOUNTING AND COST SYSTEMS
SPECIAL PAPER - |
ADVANCED COST ACCOUNTING
(Group - B)

(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions :
(1) Attempt all questions.
(2) Figures to the right indicate full marks.

(3) Use of calculator is allowed.

Q.1) (A) State whether the following statements are true or false : [05]
(a) Bill of Material is the Invoice of Materials Purchased.
(b) Under Rowan Plan, Bonus is a fixed percentage.
(c) Variable Overhead Cost is a Period Cost.

(d) Job Costing can be more suitably used in concerns
producing uniform products on a repetitive basis.

(e) Operating Costing is also known as Operation Costing.
(B) Fill in the blanks : [05]

@ In Method of Costing, the Cost of a Group
of Products is ascertained.

(b) A contract which guarantees a certain percentage of profit
is called Contract.

(c) means the allotment of whole items of cost
to cost centres or cost units.
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(d)  An example of Labour Cost which is direct to a department
and indirect to a product is

(e) The quantity of materials that is to be ordered with a
supplier is called

Q.2) What is meant by ‘Material Control’ ? Explain different stages

Q.2)

involved in a Purchase Procedure.
OR

Briefly describe various methods of Labour Remuneration and also
describe any two Incentive Plans.

Q.3) Write short notes : (Any Four)

Q.4)

[4070]-105 2 Contd.

(a) Stages of Product Life Cycle
(b) Features of Life Cycle Costing
(c) Job Evaluation

(d) Batch Costing

(e) Labour Turnover

The following data pertains to the machine shop of an engineering
company relating to the year 2009. The machine shop has 3 cost
centres A, B and C having 3 distinct sets of machines :

A B C Total
(1) No. of Workers 400 400 800 1,600
(2) No. of Machine Hours 50,000 50,000 60,000 1,60,000
(3) Percentage of H.P. 40 25 35 100

(Rs. in Lakhs)

(4) Value of Assets 20 35 30 85.00
(5) Direct Wages 16 20 24 60.00
(6) Indirect Wages 18.00
(7)  Supervisor’s Salaries 7.00



(8) Depreciation 8.50

(9) Insurance 4.25
(10) Electricity Charges 12.00
(11) Welfare Expenses 9.00
(12) Office and Other Expenses 16.00

Work out a composite Machine Hour Rate for each of the cost centres,
showing the basis of apportionment of expenses amongst the cost
centres. [15]

Q.5) The following was the position of Contract No. 110 of Moon
Construction Ltd., Pune on 31-12-2009. The contract was commenced

on 1-1-2009 :

Rs.
Materials Purchased 5,60,000
Materials transferred from Contract No. 786 40,000
Wages paid 7,00,000
Stores issued 80,000
Wages Outstanding on 31-12-2009 20,000
Establishment Charges 28,000
Architect’s Fees 12,000

A secondhand plant was purchased on 1-1-2009 for Rs. 68,000,
overhauling charges amounted to Rs. 12,000. On 30-6-2009, the plant
was transferred to Job No. 52. An additional plant was purchased on
30-9-2009 for Rs. 1,60,000. The contract price was Rs. 40,00,000.
The value of work certified on 31st December was Rs. 20,00,000 of
which 75% was received immediately in cash. The cost of work done
but not certified was Rs. 60,000. The value of materials on hand was
Rs. 16,000. Charge depreciation at 15% p.a., carry forward 1/3rd of
profit received by way of reserve. Prepare a Contract Account and
Work-in-Progress Alc. [15]
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Q.6) The product of a manufacturing company passes through two processes
X and Y and then to finished stock. It is ascertained that in each
process 5% of the total weight put in is lost and 10% is scrape which
realised Rs. 75 per ton and Rs. 210 per ton respectively.

The process figures are as follows :

Process X Process Y
Materials Consumed (tons) 2,000 130
Cost per ton (Rs.) 150 220
Wages (Rs.) 36,000 24,000
Manufacturing Expenses (Rs.) 10,500 9,920
Output (tons) 1,670 1,600
Prepare Process Cost Accounts showing cost per ton of each process.
There was no stock on work-in-progress in any process. [20]
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M. Com. (Semester - 1) Examination - 2011
ADVANCED COST ACCOUNTING AND COST SYSTEMS
SPECIAL PAPER - 1l
COSTING TECHNIQUES AND RESPONSIBILITY ACCOUNTING
(Group - B)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Use of calculator is allowed.

Q.1) (A) Fill in the blanks : [05]

(a) Standard Costing and Budgetary Control have the common
objectives, but both are

(b) A Profit Centre whose performance is measured by its ROI
IS known as

(c) Material Usage Variance is the sum of and

(d) The *‘Responsibility Accounting’ is also known as

(e) Two important objectives of Cost Accounting are
and
(B) State whether the following statements are true or false : [05]

(@) In Flexible Budgeting, it is assumed that variable cost
fluctuates inversely with volume.

(b) Standard Cost is known as Predetermined Cost.
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(c) Budgeting and Forecasting are used inter-changeably, as
such there is no difference between the two.

(d) Principal Budget Factor is a factor controllable by the
Manager of the Budget Centre.

(e) Standard Costing is an effective tool for Cost Reduction.
(C) Write short notes : (Any Two) [10]
(a) Budgeting Process
(b) Controllable and Non-controllable Costs
(c) Production Budget and Sales Budget

(d) Reasons for differences in Cost and Costing Practices

Q.2) What do you mean by ‘Responsibility Accounting’ ? Explain various
“Teachniques of Measuring Divisional Performance’. [20]

OR

Q.2) What is “Standard Costing” ? Describe advantages and limitations of
Standard Costing. [20]

Q.3) (A) Following are the Estimated Sales of a Company for 8 months
ending 30-11-2011 :

Month Estimated Sales (Units)
April, 2011 12,000
May, 2011 13,000
June, 2011 9,000
July, 2011 8,000
August, 2011 10,000
September, 2011 12,000
October, 2011 14,000
November, 2011 12,000
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(B)

As a matter of policy, the company maintains closing balance
of finished goods and raw materials as follows :

Stock Item — Closing Balance of a Month
Finished Goods - 50% of Estimated Sales for Next Month
Raw Material - Estimated Consumption for Next Month

Every unit of production requires 2 kg of Raw Material costing
Rs. 5 per kg.

You are required to prepare :
(@) Production Budget (in units)

(b) Raw Material Purchase Budget (in units and cost) for the
half year ending 30 September, 2011. [10]

What is meant by ‘Uniform Costing” ? Enumerate advantages
and limitations of Uniform Costing. [10]

Q.4) Sunlight Ltd. has given forecast sales from March, 2011 to September,
2011 and actual sales for January and February, 2011. Prepare a Cash
Budget for 5 months i.e. from March to July, 2011, with the following
informations : [20]

1)

(2)

3)
(4)
()
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Sales during the year 2011 :

Rs. Rs. Rs.
January - 1,60,000 April — 2,00,000 July - 1,80,000
February — 1,40,000 May - 1,60,000 August — 2,40,000
March - 1,60,000 June — 2,00,000 September — 2,00,000

Cash Sales — 20%, Credit Sales — 80% receivable in the third
month.

Variable Expenses — 5% on turnover, time lag 1/2 month.
Commission 5% on Credit Sales payable in the 3rd month.

Purchase 60% of the sales of the next 3rd month, payment will
be made in the 3rd month from purchase.
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Q.5)

(6) Rent and Other Expenses Rs. 6,000 paid every month.

(7) Other Payments :

Tax in March Rs. 40,000 and Fixed Assets Purchased - May

Rs. 1,00,000.

(8) Opening Cash Balance Rs. 50,000.

A building can be constructed by engaging a gang of workers as per
details given below for 100 working days of 8 hours each :

Standard Data Skilled | Semi-skilled| Unskilled
No. of Workers in the Gang 6 8 6
Standard Rate of Wages per hour | Rs. 25 Rs. 20 Rs. 16

Actual completion of work, however, took 104 days of 8 hours each.
This includes 16 hours of stoppage due to heavy rains. The actual
number of workers engaged and actual rates paid are as under :

Skilled Semi-skilled Unskilled
Number Engaged 8 6 6
Actual Rate per hour Rs. 30 Rs. 24 Rs. 16
Calculate :
(a) Labour Cost Variance
(b) Labour Rate Variance
(c) Labour Efficiency Variance
(d) Labour Mix Variance
(e) Idle Time Variance
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[4070]-107
M. Com. (Semester - 1) Examination - 2011
BUSINESS PRACTICES AND ENVIRONMENT
SPECIAL PAPER - |
ORGANISED TRADE AND MARKETS
(Group - C)
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions :

(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Discuss nature and scope of Business. Explain Product Buying and
Credit Policies of Modern Business. [20]

OR
Q.1) What do you know about the Development of Service Sector in India ? [20]

Q.2) Evaluate role played by the State Trading Corporation. [20]
OR
Q.2) Explain structure and management of the Securities Exchange Board
of India. [20]
Q.3) Explain meaning and importance of Forward Markets. [20]
OR

Q.3) Critically evaluate role of the Securities Exchange Board of India. [20]
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Q.4) State and explain features and functions of Co-operative Marketing. [20]
OR
Q.4) State and explain features of Organised Commodity Market. [20]

Q.5) Write short notes : (Any Two) [20]
(@) Objectives of Business
(b) E-commerce and Business Practices
(c) Privatisation of Trading Activity

(d) Need of Co-operative Marketing
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M. Com. (Semester - 1) Examination - 2011
BUSINESS PRACTICES AND ENVIRONMENT
SPECIAL PAPER - 1l
BUSINESS ENVIRONMENT AND POLICIES
(Group - C)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.

(2)  All questions carry equal marks.

Q.1) Define the term Business Environment. Explain scope and importance of
Environment.

OR

Q.1) Explain impact of Economical and Technological Environment on Business.

Q.2) What is Globalization ? Briefly explain impact of Globalization on Business
Environment in 21st Century.

OR
Q.2) State Profile of Indian Economy and its growth.

Q.3) Define the term Inflation. Explain various Causes of Inflation.
OR

Q.3) Define the term Pollution. Explain in detail various types of Pollutions.
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Q.4) How does Educational Environment influence Business Decisions ?
OR

Q.4) Explain various measures for controlling Pollution.

Q.5) Write short notes : (Any Two)

(a) Regional Imbalance

(b) Parallel Economy

(c) Social Justice

(d) Market Economy System

(e) Business Environment in India before Independence
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M. Com. (Semester - 1) Examination - 2011
BUSINESS ADMINISTRATION
SPECIAL PAPER - |
PRODUCTION AND OPERATIONS MANAGEMENT
(Group - D)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) All questions carry equal marks.

Q.1) Define “Production Management’. Discuss methods of Production in brief.
OR

Q.1) Explain Concept of ‘Production Management’. Discuss functions of
Production Management in detail.

Q.2) What is Product Design ? Explain important characteristics of Good Design.
OR

Q.2) What is Production Planning ? Explain objectives and importance of
Production Planning in todays Globalization.

Q.3) Explain Concept of Store-keeping. What are the objectives and functions
of Store-keeping ?
OR

Q.3) What do you mean by Logistics Management ? Explain importance and
scope of Logistics Management.
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Q.4) Explain meaning of Productivity. What are the factors affecting Productivity ?
OR
Q.4) Write notes :
(a) Factors of Production Control

(b) Need of Quality Management

Q.5) Write short notes : (Any Four)
(@) Service Systems
(b) Techniques of Product Development
(c) Inventory Control in Materials Management
(d) Material Handling
(e) Quality Circles
(H Kaizen
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M. Com. (Semester - 1) Examination - 2011
BUSINESS ADMINISTRATION
SPECIAL PAPER - 11
FINANCIAL MANAGEMENT
(Group - D)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) All questions carry equal marks.
(3) Use of calculator is allowed.

Q.1) Define the term Financial Management. Explain in detail the various goals
of Financial Management.

OR
Q.1) What is Financial Statements ? Explain various types of Financial Analysis.

Q.2) Explain various Investment Decision Methods.
OR
Q.2) (A) Explain Financial Markets in India.
(B) Explain various techniques of Financial Analysis.
Q.3) What is Working Capital ? Explain in detail the Significance of Working
Capital.
OR
Q.3) Define the term Inventory and Inventory Management. Explain role of
Manager in Inventory Management.
Q.4) What is Ratio ? Explain significance and limitations of Ratios.
OR
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Q.4) Tata Motors Limited, Pune submits the following Trading Account and
Profit and Loss Account for the year ended 31st March, 2011 :

Trading Account, Profit and Loss Account
for the year ended 31st March, 2011

Dr. Cr.
Particulars Amt. Rs. | Particulars Amt. Rs.
To Opening Stock 52,00,000| By Sales 3,20,00,000
To Purchases 1,60,00,000 | By Closing Stock 76,00,000
To Wages 48,00,000
To Manufactuning
EXps. 32,00,000
To Gross Profit c/d | 1,04,00,000
Total | 3,96,00,000 Total | 3,96,00,000
To Selling and
Distribution Exps.|  8,00,000| By Gross Profit b/d [1,04,00,000
To Administration
Exps. 45,60,000 [ By Profit on Sale
of Shares 9,60,000
To Loss by Fire 2,40,000
To Loss on Sale of
Furniture 1,60,000
To Net Profit c/d. 56,00,000
Total | 1,13,60,000 Total | 1,13,60,000
Calculate the following ratios :
(@ Gross Profit Ratio
(b) Net Profit Ratio
(c) Operating Ratio
(d) Operating Net Profit Ratio
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Q.5) Write short notes : (Any Four)
(@ Role of SEBI
(b) Forms of Balance Sheet
(c) Fund Flow Analysis
(d) Capital Expenditure
() Sources of Funds
(H  Cash Management

(g) Problems of Receivables Management
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M. Com. (Semester - 1) Examination - 2011
COMMERCIAL LAWS AND PRACTICES
SPECIAL PAPER - |
INFORMATION SYSTEM AND E-COMMERCE PRACTICES
(Group - E)

(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions :

(1) All questions are compulsory.

(2)  All questions carry equal marks.

Q.1) What is E-commerce ? State scope and limitations of E-commerce.
OR

Q.1) Explain in detail E-commerce Modules with suitable examples.

Q.2) What do you mean by Internet Advertising ? State benefits and limitations
of Internet Advertisement.

OR

Q.2) What is Global Information System ? State benefits of Global Information
System.

Q.3) Define Internet. State various Components of Information Technology
Structure.

OR

Q.3) Explain Purchase Procedure with reference to E-Commerce.
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Q.4) Write notes :

(a) Electronic Fund Transfer
(b) Electronic Data Interchange
OR
Q.4) Write notes :
(a) Distinction between Internet and Extranet

(b) Value Chains in E-commerce

Q.5) Write short notes : (Any Four)
(@) Electronic Shopping
(b) E-commerce Portals
(c) Electronic Debit and Credit Cards
(d) Proxy Gateways
(e) Electronic Catalogue

(f)  Electronic Retailing and Malls
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M. Com. (Semester - 1) Examination - 2011
COMMERCIAL LAWS AND PRACTICES
SPECIAL PAPER - Il
INTELLECTUAL PROPERTY LAWS
(Group - E)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2)  All questions carry equal marks.

Q.1) What do you mean by 'Intellectual Property' ? Explain in brief the different
types of Intellectual Property Rights (IPRs).

OR

Q.1) How does an 'Intellectual Property' differ from other kinds of Properties ?
Discuss importance of Protection of 'Intellectual Property Rights'.

Q.2) What is a 'Patent’ ? Who can obtain it ? Describe procedure for Obtaining
a Patent in India.

OR
Q.2) State different provisions of the Patents Act, 1970 regarding 'Patent Agent'.

Q.3) What is 'Trade Mark' ? What are the qualities of a Good Trade Mark ?
Which Trade Marks cannot be registered ?

OR

Q.3) State 'Administrative Machinery' under the Trade Marks Act, 1999. What
Is the Jurisdiction of ‘Trade Marks Offices’ ? State powers of ‘Registrar’
of Trade Marks.
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Q.4) State composition of the State Biodiversity Board. What are its functions ?
Explain legal provisions in respect of Finance, Accounts and Audit of the
State Biodiversity Board.
OR

Q.4) (A) On which grounds opposition to Grant of Patent may be made ? State
procedure for opposing a Patent.

(B) State provisions of the Trade Marks Act, 1999 in respect of
‘Assignment and Transmission of Registered Trade Marks'.

Q.5) Write short notes : (Any Four)
(@) Commercial Exploitation of Intellectual Property
(b) Patents of Addition
(c) Infringement of Trade Marks
(d) Register of Patents
(e) Registered User of Trade Marks

()  Biodiversity Management Committees
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M. Com. (Semester - 1) Examination - 2011
CO-OPERATION AND RURAL DEVELOPMENT
SPECIAL PAPER - |
CO-OPERATIVE MOVEMENT IN INDIA
(Group - F)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Discuss evolution of Co-operative Movement after Independence
in India. [20]

OR

Q.1) Explain impact of Globalisation on Co-operative Sector in India. [20]

Q.2) Describe provisions regarding Registration and Management of
Co-operatives in Maharashtra State Co-operative Societies Act, 1960. [20]

OR

Q.2) Describe provisions regarding Members and their rights and Settlement
of Disputes in Maharashtra State Co-operative Societies
Act, 1960. [20]

Q.3) Explain importance of Legal and Administrative Control of Government
on Co-operatives in India. [20]

OR
Q.3) Write a detailed note on All India Rural Credit Review Committee. [20]
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Q.4) State and explain findings and recommendations of Mirdha

Committee. [20]
OR
Q.4) Explain role of Maharashtra Rajya Sahakari Bank in Strengthening
Co-operative Movement in Maharashtra. [20]
Q.5) Write short notes : (Any Four) [20]
(@) Co-operative Audit
(b) Recommendations of Vaidyanathan Committee
(¢) Indian Planning and Co-operatives
(d) CRAFICAD Report
(e) Rural Credit Review
() Responsibilities of District Registrar of Co-operative Societies
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M. Com. (Semester - 1) Examination - 2011
CO-OPERATION AND RURAL DEVELOPMENT
SPECIAL PAPER - 11
ORGANISATION OF CO-OPERATIVE BUSINESS
(Group - F)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Define the term ‘Co-operation’. Explain Principles of Co-operation. [20]
OR

Q.1) How the Principles of Co-operation and Principle of Management can
be integrated ? Explain. [20]

Q.2) Examine need of Professionalism in Co-operative Management. [20]
OR

Q.2) Explain importance of Communication and Leadership in
Co-operative Organisation. State Problems of Leadership in
Co-operative Organisation in Maharashtra. [20]

Q.3) State and explain objects of Co-operative Training. Examine role of
‘National Council for Co-operative Training in Co-operative
Training’. [20]

OR

Q.3) Discuss need for Co-operative Education. Examine role played by
Vaikunthbhai Mehta National Co-operative Institute in Co-operative
Education. [20]
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Q.4) Assess role of Co-operative Sugar Factories in Rural Development
in India. [20]

OR

Q.4) Explain progress and problems of Dairy Co-operatives in India.  [20]

Q.5) Write notes : (Any Four) [20]
(@) Importance of Professionalism in Co-operative Management
(b) Objectives of Co-operative Audit
(c) Advantages of Housing Co-operatives
(d) Importance of Co-operative Education
(e) Problems of Non-agricultural Co-operative Societies
()  Methods of Co-operative Training
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[4070]-115

M. Com. (Semester - 1) Examination - 2011
ADVANCED BANKING AND FINANCE
SPECIAL PAPER - |
LEGAL FRAMEWORK OF BANKING
(Group - G)
(2008 Pattern)
3 Hours] [Max. Marks : 100

Instructions :

(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1)

Q.1)

Q.2)

Q.2)

Q.3)

Q.3)

Spell out in detail any three restrictions imposed on Business of
Banking Companies as per the Banking Regulation Act, 1949. [20]

OR

Spell out in detail the applicability of the Banking Regulation Act,
1949 to the Co-operative Banks. [20]

Explain separately and in detail the parties to (a) Promissory Note,
(b) Bill of Exchange and (c) Cheque. [20]

OR

Explain in detail the provisions of the Negotiable Instruments Act,
1881 pertaining to (a) Holder, (b) Holder in Due Course and
(c) Payment in Due Course. [20]

Explain in detail the composition of the Local Boards of the RBI,
functions of these Boards and disqualification of Directors and
Members of these Local Boards, as per the RBI Act, 1934. [20]

OR

Explain in detail all provisions pertaining to Currency Notes as spelt
out in the Reserve Bank of India Act, 1934. [20]
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Q.4) Explain in detail the Current and the Capital Account Transactions
as explained in the Foreign Exchange Management Act, 1999. [20]

OR
Q.4) Spell out in detail the provisions of Foreign Exchange Management
Act, 1999 pertaining to 'Authorised Person'. [20]
Q.5) Write notes : (Any Two) [20]
(a) Penalties spelt out under the RBI Act, 1934
(b) Directorate of Enforcement
(c) Cancellation of Certificate of Registration of a Securitization or
Reconstruction Company
(d) Noting and Protest
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[4070]-116

M. Com. (Semester - 1) Examination - 2011
ADVANCED BANKING AND FINANCE
SPECIAL PAPER - I
CENTRAL BANKING
(Group - G)

(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions :

(1) All questions are compulsory.

(2) Figures to the right indicate full marks.

Q.1) Explain need and rationale of a Central Bank. [20]
OR
Q.1) Explain evolution of the Reserve Bank of India. [20]

Q.2) Discuss role of the Reserve Bank of India as the Currency Authority. [20]

OR
Q.2) Explain role of the Reserve Bank of India in Maintenance
of the Government Accounts. [20]
Q.3) Explain the following aspects : [20]

(@) Licensing of Banks
(b) Opening of New Banks
OR
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Q.3) Explain the following aspects :
(a) Reserve Bank of India and Foreign Banks
(b) Cash Reserves and Liquid Assets
Q.4) Explain the following aspects :
(@) Control over Management
(b) Credit Information Bureau

OR

Q.4) Explain measures taken by RBI for Supervision over NBFCs.

Q.5) Write notes : (Any Two)
(a) Distribution of Currency
(b) Currency Management
(c) Inspection of Banks

(d) Management of Public Debt
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[4070]-117

M. Com. (Semester - 1) Examination - 2011
ADVANCED MARKETING
SPECIAL PAPER - |
MARKETING TECHNIQUES
(Group - H)
(2008 Pattern)
3 Hours] [Max. Marks : 100

Instructions :

(1) All questions are compulsory.
(2) Figures to the right side indicate full marks.

Q.1)

Q.1)

Q.2)

Q.2)

Q.3)

Q.3)

Discuss role of Marketing in Developing Economy. [20]
OR

Define Marketing Mix and explain elements of Marketing Mix. [20]

What is Pricing Decision ? Explain factors which influence Pricing

Decision. [20]
OR

Explain elements of Promotion Mix. [20]

Explain in detail the Process of New Product Decision. [20]
OR

Enumerate role and functions of Sales Manager. [20]
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Q.4) Define Marketing Research and explain Procedure of Marketing

Research. [20]
OR
Q.4) Define Marketing Information System and explain Components of
Marketing Information System. [20]
Q.5) Write short notes : (Any Four) [20]
(@) Objectives of Advertising
(b) Service Marketing
(c) Social Responsibility of Marketing Organisation
(d) Test Marketing for a New Product
(e) Product Life Cycle
() Qualities of a Good Salesman
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[4070]-118

M. Com. (Semester - 1) Examination - 2011
ADVANCED MARKETING
SPECIAL PAPER - 11
CONSUMER BEHAVIOUR
(Group - H)

(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions :

(1) All questions are compulsory.

(2)  All questions carry equal marks.

Q.1) Define ‘Consumer Behaviour’. Why is it necessary to study Consumer
Behaviour ?

OR
Q.1) Write notes :

(a) Role of Media in Consumer’s Decision-making Process

(b) Consumer’s Perception of Risk

Q.2) Describe Internal and External Factors affecting Perception of Consumers.
OR
Q.2) Write notes :
(a) Stimulus Generalisation

(b) Components of Learning Process
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Q.3) Define the term ‘Attitude’. What are the factors involved in Attitude
Formation ?

OR
Q.3) Write notes :

(a) Attitudes and Consumer Behaviour

(b) History of Consumer Research

Q.4) Describe in detail the Process of Consumer Research.
OR

Q.4) Write notes :
(a) Marketing Application of McClelland’s Theory of Need Achievement

(b) Positive Motivation

Q.5) Write short notes : (Any Four)
(@) Consumer Protection Legislation in India
(b) Relevance of Business Ethice to the Study of Consumer Behaviour
(c) Methods of Collecting Primary Data
(d) Role of Marketing in Service Sector

(e) Rural Consumer
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[4070]-201

M. Com. (Semester - 1) (Compulsory) Examination - 2011
FINANCIAL ANALYSIS AND CONTROL
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instruction :

All questions are compulsory and carry equal marks.

Q.1) SUPERCAP Limited, Pune wants to purchase a new machine for the
Company. There are two alternative machines available, the details of which
are as follows :

Particulars Machine A Machine B

Cost Rs. 10,00,000 Rs. 10,00,000

Life 5 Years 5 Years

Year Net Profit after Depreciation and Tax (Rs.)
1st 2,00,000 50,000 (loss)
2nd 1,50,000 50,000

3rd 1,00,000 1,00,000

4th 50,000 1,60,000

5th 50,000 (loss) 2,00,000

Depreciation is to be charged by Straight Line Method. The Company
expects minimum rate of return at 10% at which the present value of Rupee
One to be received at the end of each year is given below :

Year 1 2 3 4 5
Present Value | 0.909 0.826 0.751 0.683 0.621
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You are required to advise management as to which of the alternative
machines is the best on the basis of the following appraisal methods :

(@ Average Return on Average Investment
(b) Discounted Pay Back Period
(c) Net Present Value
(d)  Profitability Index

Q.2) The following are the estimates of Mr. Budget :

Months Sales Purchases | Wages Overheads
Factory | Office
November-2011 2,00,000 1,20,000 | 30,000 20,000 2,000
December-2011 2,60,000( 1,40,000 | 40,000 30,000 2,000
January-2012 2,80,000 1,50,000 | 50,000 25,000 2,500
February-2012 3,00,000| 1,80,000 | 70,000| 30,000 4,000
March-2012 2,50,000( 1,20,000 | 65,000 25,000 6,000
April-2012 3,20,000( 2,50,000 | 50,000 28,000 8,000
May-2012 2,80,000 2,60,000 | 60,000 32,000 7,500

Additional Information :

(1) 20% of the sales are cash sales. 60% of the credit sales are recovered
in the next month while the remaining two months after.

(2) 10% of the purchases are made by making an advance payment of
one month, 20% of the purchases are on cash basis while the remaining
purchases are made on 2 months credit.

(3) 70% of the wages are paid to skilled workmen on monthly basis while
the remaining wages are paid to unskilled workmen on weekly basis.

(4) Factory and Office Overheads are fixed to the extent 30% and 70%
respectively which are paid one month in arrear.

(5) \Variable Overheads are paid in the same month.
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(6) Advance Income Tax Rs. 30,000 is to be deposited in the month
of March. Interest on 10,000, 14% convertible debentures of Rs. 10
each, issued 2 years back at 20% premium, is due on 1st January
and 1st July every year.

(7) Balance as on 31st December, 2011 was Rs. 1,00,000.

You are required to prepare Cash Budget for the period from 1st January,
2012 to 30th April, 2012.

OR

Q.2) Define the terms 'Budget' and 'Budgetary Control'. Explain preliminary
requirements to install an effective Budgetary Control System.

Q.3) What is Marginal Costing ? Explain how Marginal Costing is useful in the
various critical decisions-making.

OR

Q.3) The following particulars are obtained from the cost records of a factory
manufacturing products 'A' and 'B' :

Particulars Product ‘A’  Product ‘B’
(Rs) (Rs)
Selling Price 500 600
Material Cost @ Rs. 5 per kg 200 300
Labour Cost @ Rs. 20 per hour 140 100
Variable Overheads 60 100
Number of units sold 1,000 1,200

Total Fixed Cost is Rs. 1,00,000.

(A) Which product is the most profitable product in case there is a
shortage of (a) Raw Material or (b) Labour Hours.

(B) You are required to advise management as to the most profitable sales
mix with the probable amount of profit in the following circumstances :

. If the maximum raw material available is 70,000 kg and maximum
possible sale of each product is only 1,000 units.

. If the maximum available labour hours are 8,500 and maximum
sale of any product is 1,000 units.
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Q.4) What is Standard Cost and Standard Costing ? Explain importance and
limitations of Variance Analysis.

OR

Q.4) CCD Limited, Pune wants to raise Rs. 5.00 crore by issuing Equity Shares,
15% Redeemable Preference Shares and 16% Debentures. The relevant
information is as follows :

1)
)

3)

(4)
®)

(6)

Equity Shares are to be issued at 25% premium.

15% Redeemable Preference Shares are to be issued at 5% discount
and they are to be redeemed after 7 years at 10% discount.

16% Debentures are to be issued at par and will be redeemed after
5 years at 5% discount.

Floating Cost for all the issues is 2%.

Dividend on the Equity Shares was distributed at 25% in the last
year.

Income Tax rate applicable to the Company is 30%.

You are required to advise management as to which of the following
compositions of issue of Equity Shares, Preference Shares and Debentures
IS beneficial for the Company :

Composition I - 5:4:3

Composition Il - 1:2:3

Composition Il - 3:1:3

Q.5) Write notes on any two of the following :

@)
(b)
(©)

Internal Rate of Return
Cost-Volume-Profit Relationship

Master Budget
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[4070]-202

M. Com. (Semester - Il) (Compulsory) Examination - 2011
RESEARCH METHODOLOGY FOR BUSINESS

(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions :

(1) All questions are compulsory.
(2) All guestions carry equal marks.

Q.1) What do you mean by the term ‘Research Design’ ? Explain stages in the
Process of Research.

OR
Q.1) Explain various sources used for collecting Business Information and Data.

Q.2) Write short notes : (Any Four)

(@) Bibliography
(b) Index

(c) Types of Questionnaires
(d)  Hypothesis
() Reference Library
()  Primary Data
Q.3) Explain characteristics, merits and limitations of Case Study Method.
OR

Q.3) What is meant by Research Paper ? Make an Outline of Research Paper
of any theme either from ‘Finance’ or ‘Marketing’.
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Q.4) (A) State Sources of Research Topic.
(B) Write a note on ‘Project Report’.

OR
Q.4) (A) State role of Research Supervisor.

(B) Describe usefulness of Computer in the Process of Data Analysis for
Research Purpose.

Q.5) Explain various types of Research.
OR

Q.5) (A) State Research Problems in Sales and Marketing.

(B) Describe significance of Sample Selection in Research.
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[4070]-203
M. Com. (Semester - IlI) Examination - 2011

ADVANCED ACCOUNTING AND TAXATION
SPECIAL PAPER - Il
SPECIALISED AREAS IN ACCOUNTING
(Group - A)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.

(2) Figures to the right indicate full marks.
(3) Use of pocket calculator is allowed.

Q.1) What is Financial Reporting ? Explain its importance and limitations
in respect of Mutual Funds. [20]

OR
Q.1) Write short notes : (Any Four) [20]
(a) Stock Brokers
(b) Non-banking Financial Companies
(c) Value Added Tax (VAT)
(d) Hotel Accounting
(e) Demerger

()  Service Tax
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Q.2) A Ltd. and B Ltd. carry on similar business. Their Balance Sheet as
on 31-12-2008 are as follows :

Liabilities A Ltd. B Ltd. Assets A Ltd. B Ltd.
(Rs.) (Rs.) (Rs.) (Rs.)

Capital : Plant 6,00,000 | 3,00,000
Equity Shares of Land 12,00,000 | 5,00,000
Rs. 10 each 10,00,000( 5,00,000| Investments | 1,00,000 -
Profit and Loss A/c.| 6,00,000| 2,50,000| Stock 2,00,000 | 1,50,000
Loans 4,00,000| 2,00,000| Debtors 1,50,000| 1,00,000
Current Liabilities 3,00,000| 1,50,000( Bank 50,000 | 50,000
23,00,000( 11,00,000 23,00,000 (11,00,000

Both the companies decide to amalgamate and form a new company

C Ltd. on the following conditions :

(1) All Assets and Liabilities of the two companies except investments
are taken over by C Ltd.

(2) Each share in A Ltd. is valued at Rs. 25 and B Ltd. at Rs. 20
for the purpose of amalgamation.

(3) A Ltd. holds 20,000 shares in B Ltd.

(4) The shareholders of A Ltd. and B Ltd. are paid off by sufficient
number of equity shares of Rs. 10 each in C Ltd., at par, fully

paid.
Close the books of both the companies. [20]
Q.3) The following is the Balance Sheet of Aniket Ltd., as on 31st March,
2009 :
Liabilities Rs. Assets Rs.
Share Capital : Patents 1,50,000
6,000, 6% Preference Freehold Property 2,00,000
Shares of Rs. 50 each | 3,00,000 | Stock 1,70,000
50,000 Equity Shares Debtors 2,60,000
of Rs. 10 each 5,00,000
6% Debentures 2,00,000 | Cash at Bank 6,000
Sundry Creditors 1,60,000 | Profit and Loss Alc. |4,06,000
Acerued Interest
on Debentures 32,000
11,92,000 11,92,000
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The following scheme of reconstruction was approved by the court:

(1) The new company Nachiket Ltd. will be formed with an
authorised capital of Rs. 10,00,000 divided into 6,000 Equity
Shares of Rs. 10 each and 5,000, 7% Preference Shares of
Rs. 100 each.

(2) Dividend and Preference Shares are in arrears for four years of
which 75% will be cancelled and fully paid equity shares to
be issued for the balance of claim.

(3) One Equity Share of Rs. 5 per share credited to be issued in
exchange for every two shares of Aniket Ltd. The balance of
Rs. 5 per share will be paid on call by the company.

(4) One 7% Preference Share will be issued in exchange of every
three 6% Preference Shares in Aniket Ltd.

(5) The Debentureholders will be discharged together with accrued
interest by the issue of fully paid Equity Shares.

(6) The Creditors will receive 50% of their dues in cash and the
balance to be fergone.

Show journal entries closing the books of Aniket Ltd. The Preliminary
Expenses of Nachiket Ltd. amounted to Rs. 6,000. [20]

Q.4) M/s. Namrata Construction undertake a contract for the construction
of Hall on 1st January, 2007. The contract price was agreed of
Rs. 9,00,000. The following particulars are available from the book
for the year ended 31st December, 2007 :

Particulars Amount (Rs.)
Material Supplied from Stores 20,000
Materials Purchased 1,60,000
Labour Charges 60,000
Plant Purchased 80,000
Direct Expenses 40,000
Administration Overheads 10,000
Cash received from Contractee (8% of Work Certified) 4,00,000
Work not yet certified 1,00,000
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Q.5)

Materials on Hand (31st December, 2007)

Material returned to Stores

Cost of Plant (31st December, 2007)
Outstanding Wages (31st December, 2007)

Outstanding Direct Cost (31st December, 2007)

Prepare :
(a) Contract Account

(b) Balance Sheet as on 31st December, 2007

4,000
10,000
60,000
12,000
16,000

[20]

Thange Transport Ltd. submitted the following Trial Balance as on
31st March, 2008. Prepare Operating and Profit and Loss A/c. and

a Balance Sheet as on that date : [20]
Name of Account Debit Credit

(Rs.) (Rs.)
Capital - 10,00,000
Trucks 7,50,000 -
Stock of Fuel (1-4-2007) 1,00,000 -
Fuel 75,000 -
Spares 25,000 -
Road Tax 5,000 -
Traffic Earnings - 4,00,000
Insurance 15,000 —
Driver Wages 12,000 -
Office Rent 5,000 -
Drawings 25,000 -
Sundry Expenses 5,000 -
Printing and Stationery 2,500 —
Cleaner’s Wages 1,500 -
Stock of Tyres (1-4-2007) 60,000 -
Tyres 25,000

Contd.
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Name of Account Debit Credit

(Rs.) (Rs.)
Creditors and Debtors 20,000 2,50,000
Investments 4,00,000 —
Cash at Bank 1,00,000 -
Cash in Hand 24,000 -

16,50,000 16,50,000

Additional Information :

1)

(2)

3)
(4)

Outstanding Expenses are :

(1) Driver’s Wages - Rs. 2,500

(i) Cleaner’s Wages — Rs. 500

Stock of Fuel and Tyres as on 31st March, 2008 :

(i) Fuel - Rs. 50,000

(i) Tyres — Rs. 45,000

Interest on Investments Rs. 36,000 is due but not yet received.
Depreciate Truck at 10%.
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[4070]-204
M. Com. (Semester - IlI) Examination - 2011
ADVANCED ACCOUNTING AND TAXATION
SPECIAL PAPER - IV
BUSINESS TAX ASSESSMENT AND PLANNING
(Group - A)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

(3) Read the entire question very carefully before attempting the
questions.

Q.1) Write short notes : (Any Four) [16]
(@) Assessment of Local Authorities
(b) Income Tax Authorities
(c) E-Filing of Income Tax Return
(d) Tax Collection at Source
(e) Tax Evasion Vs Tax Avoidance
() Valuation Date under the Wealth Tax Act, 1957
(g) Taxable Services under Service Tax
Q.2) Answer any two of the following : [14]

(a) Explain nature and scope of Tax Planning and Management in
the Corporate Sector.
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(b) State the provisions of Income Tax Act, 1961 relating to filing
of appeal before Income Tax Appellate Tribunal.

(c) What are the merit and demerit of VAT under Indian Context ?

(d) Explain the Legal Provisions under different circumstances for
Registration Procedure of Service Tax.

Q.3) Ajay and Atul are two partners of a firm and sharing profit in the
ratio of 3:2. The profit and Loss Account of the firm for the year
ending 31-03-2012 is as follows :

Profit and Loss Account for the year ending on 31-03-2012

Particulars Rs. | Particulars Rs.
To Cost of Goods sold| 32,00,000 |By Sales 50,00,000
To Salary to Staff 587,000 |By Long Term Capital
To Depreciation 90,000 Gains (according to
Sec. 48) 60,000
To Remuneration to By Miscellaneous
Partners : Business Income 48,000

Ajay - 2,60,000
Atul - 1,40,000 4,00,000
To Interest on Capital

@ 24% :

Ajay - 48,000

Atul - 36,000 84,000
To Other Expenses 4,06,000
To Net Profit 3,41,000

51.08.000 [51.08,000

Other Information :
(1) The firm being assessed as firm.

(2) The firm has given donation of Rs. 60,000 to PMNRF which
Is included in other expenses.
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3)

Salary and Interest is paid to partners as per Partnership Deed.

(4) Depreciation allowable under section 32 is Rs 60,000.
Compute the Total Income and Tax Liability of the firm for the
Assessment Year 2012-13. [20]
Q.4) (A) Discuss, how the following items are to be treated for the
purpose of assessment under Wealth Tax Act for the Assessment
Year 2012-13 [10]
(1) Mangeshkar had made gift of Jewellery and Ornaments
of his wife from time to time since his marriage in 1882,
aggregating to Rs. 1,00,000; the Market Value is
Rs. 2,50,000 on the valuation date. Mrs. Mangeshkar had
pledged the Ornaments and Jewellery to take loans for her
personal use out of which loans of Rs. 50,000 were
outstanding on valuation date.
(2) Mangeshkar has tools and instruments required for his
profession worth Rs. 3,00,000.
(B) Mr. Rehman (a registered dealer) had purchased goods for
Rs. 1,20,000 and after adding for expenses of Rs. 10,000 and
of Profit Rs. 15,000 had sold out the same. The rate of VAT
on purchases and sales is 12.5%. Compute the invoice value
to be charged and amount of tax payable under VAT by
Mr. Rehman. [10]
Q.5) The total income of a Saikrupa Co-operative Society, Pune (other
than Consumer Co-operative Society) for the Financial Year ending
31-03-2012 under various heads is as under :
Rs.
(1) Banking Business 10,000
(2) Income from Cottage Industry 15,000
(3) Marketing of Agricultural Produce grown by Member 15,000
(4) Income from Purchase and Sales of Agricultural
implements to Members 12,000
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Q.6)

(5) Profit and Gains of Business 75,000

(6) Interest and Dividend from other

Co-operative Society 12,000

(7) Collective Disposal of Labour 11,000
(8) Income from House Property 50,000
2,00,000

Compute Taxable Income of Saikrupa Co-operative Society for the
Assessment Year 2012-13. [18]

Bappi Company Ltd. estimates its income for the previous year
2011-12 relevant to the Assessment Year 2012-13 at Rs. 1,20,000.
Besides this income, it has also earned long-term capital gain of
Rs. 80,000 on transfer of gold on 1-12-2011. Compute the amount
of advance tax payable on respective due date by the company with
your remark. [12]
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[4070]-205
M. Com. (Semester - IlI) Examination - 2011
ADVANCED COST ACCOUNTING AND COST SYSTEMS
SPECIAL PAPER - 11l
APPLICATION OF COST ACCOUNTING
(Group - B)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) Attempt all questions.
(2) Figures to the right indicate full marks.
(3) Use of non-programmable calculator is allowed.

Q.1) (A) Fill in the blanks : [05]
(@) Loss in the value of returnable containers is treated as
overheads.
(b) are those costs which are connected with putting

the result of research on commercial basis.
(c) Interest on Bank Deposits and Loans granted is purely

Income.
(d) Increase in productivity leads to in cost.
(e) Evaporation of Oil, Paints etc. is an example of loss.

(B) State whether the following statements are true or false, with
reasons : [05]

(a) Wastages can be realised where as scrap cannot be realised.

(b) Interest is purely an item of Financial Accounting therefore,
it will not be the Part of Cost.

(c) Value Analysis is not an effective tool for cost reduction.
(d)  Productivity should not be confused with production.

(e) The need of reconciliation arises only under integrated
Accounting System.
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Q.2) (A) Role of Management Accountant in Value Chain Analysis [10]
(B) Value Chain Analysis V/s. Convential Management Accounting [10]

Q.3) Write short notes on any four of the following : [20]
(@) Amortization of Interest on Capital
(b) Treatment of Research and Development Cost
(c) Human Aspect of Productivity
(d) Idle Capacity
(e) Business Process Re-engineering
() Need for Reconciliation of Cost and Financial Accounts

Q.4) The following figures are extracted from the Financial Accounts of
‘Selwel Ltd.” for the year ended 31-3-2010 :

Rs.

Sales (20,000 Units) - 50,00,000
Materials - 20,00,000
Wages - 10,00,000
Factory Overheads - 9,00,000
Administrative Overheads - 5,20,000
Selling and Dist. Overheads - 3,60,000
Finished Goods (1,230 Units) - 3,00,000
Work-in-progress :

Materials - 60,000

Labour - 40,000

Factory Overhead - 40,000  1,40,000
Goodwill Written-Off - 4,00,000
Interest Paid on Capital - 40,000

In the Costing Records, Factory Overhead is charged at 100% of
Wages, Administration Overhead 10% of Factory Cost and Selling and
Distribution Overhead at the rate of Rs. 20 per unit sold.

Prepare a statement reconciling the profit as per Cost Records with
the profit as per Financial Records. [20]
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Q.5) The following is the performance data of fertilizer company for the
year 2009-10 :

(1) Output : 47,60,000 tonnes valued at Rs. 4,760 per tonne.
(2) Raw Material consumed : 71,40,000 tonnes

(3) Average Employment : 23,800 — each employee costs Rs. 5,355
per tonne.

(4) Energy consumed : 23,80,000 MW Hrs.
(5) Average Capital Employed : Rs. 23,800 millions.
Compute the factor productivity of Man Power, Material, Energy,

Capital Employed and Total Factor Productivity. [20]
Q.6) From the following figures, prepare Reconciliation Statement : [10]
Rs.
Profit as per Costing Records 5,000
Factory Overheads under recovered in Costing 3,000
Selling and Administration Overheads Over-recovered
in costing 2,000
Discount credited in Financial Books 500
Preliminary Expenses written off in Financial Books 6,500
Opening Stock Value :
in Cost Books 5,000
in Financial Books 4,000
Closing Stock Value :
in Cost Books 12,000
in Financial Books 10,000

Interest charged by the bank not considered in Financial Accounts and
Cost Accounts Rs. 1,500
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[4070]-206

M. Com. (Semester - Il) Examination - 2011
ADVANCED COST ACCOUNTING AND COST SYSTEMS
SPECIAL PAPER - IV
COST CONTROL AND COST SYSTEMS
(Group - B)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Use of calculator is allowed.

Q.1) (A) Select the most suitable answer : [05]

(a) Difference between Marginal Costing and Absorption
Costing arises from treatment of

0] Variable Overheads

(i) Prime Cost

(ii)  Fixed Overheads
(b) Contribution is known as

0] Marginal Income

(i) Gross Profit

(ifi) ~ Net Income

[4070]-206 1 P.T.O.



(c) In Activity Based Costing, Costs are accumulated by

0] Cost Objects
(i)  Cost Pool
(ili)  Cost Benefit Analysis

(d) concept is known as Cost-behaviour Oriented
Approach.

0] Standard Costing

(i) Marginal Costing

(i)  Absorption Costing
(e) Value Engineering leads to

0] Increase in Sales

(i) Cost Reduction

(i) Profit Maximization

(B) State whether the following statements are true or false :  [05]

(a) Performance Measurement System has the goal of strategy
implementation.

(b) JIT Philosophy is not dedicated to the Elimination of
Waste.

(c) The purpose of Cost Control Account is to control the Cost
of Production.

(d) A Multi-product Profit Graph cannot show the BEP for
all the products.

(e) Fixed Costs vary with volume rather than time.

(C) Distinguish between Cost Control and Cost Reduction. [10]
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Q.2) What do you mean by ‘Activity Based Costing’ (ABC) ? Compare
ABC with Traditional Costing System. What are the advantages of
ABC ? [20]

OR
Q.2) Write short notes : (Any Four) [20]
(@) Objectives of Pricing Policy
(b) Cost Drivers
(c) Value Analysis
(d) Creating Cost Centre and Cost Code
(e) Just-in-Time
()  Differential Costs

Q.3) (A) The Sudarshan Engineering Co. Ltd., annually manufactures and
sells 20,000 units of a product. The Selling Price of the product
iIs Rs. 50 and profit earned is Rs. 10 per unit.

The Analysis of Cost of 20,000 units is -

Material Cost - Rs. 3,00,000
Labour Cost — Rs. 1,00,000
Overheads - Rs. 4,00,000 (50% Variable)

You are required to compute :
(a) Break-even Sales in Units and Rupees
(b) Sales to earn profit of Rs. 3,00,000

(c) Profit when 15,000 units are sold. [10]
(B) State various factors influencing on ‘Pricing Decisions’. Explain
“Total Cost-Plus Pricing’. [10]

Q.4) P. Chidamberam, Mumbai operates its plant at 80% of the normal
capacity to manufacture a product only to meet the demand of
Government of Maharashtra under a rate contract.

The firm supplies the product for Rs. 4,00,000 and earns a profit
margin of 20% on Sales Realisation. Direct Cost Per Unit is constant.
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The Indirect Cost as per the budget projections are :

Indirect Cost | 20,000 Units 22,500 Units 25,000 Units
(80% Capacity) [(90% Capacity) | (10% Capacity)
(Rs.) (Rs.) (Rs.)
Variable 80,000 90,000 1,00,000
Semi-variable 40,000 42,500 45,000
Fixed 80,000 80,000 80,000

The firm has received an export order for the product equal to 20%
of its present operations. Additional Packing Charges on this order
will be Rs. 1,000 compute the price to be quoted for export order
to earn a profit to 10% an Export Price. [20]

Q.5) A review made by the Top Management of ALFA Ltd., which makes
only one product, of the result of the first quarter of the year revealed

the following :

Sales in Units - 10,000
Loss - Rs. 10,000
Fixed Cost (for the year Rs. 1,20,000) - Rs. 30,000
Variable Cost per Unit - Rs. 8

The Finance Manager who feels disturbed suggests that the company
should at least break-even in the second quarter with a drive for
increased sales. Towards this, the company should introduce a better
packing which will increase the cost by 50 paise per unit.

The Sales Manager has an alternative proposal. For the second quarter,
additional Sales Promotion Expenses can be increased to the extent
of Rs. 5,000 and a profit of Rs. 5,000 can be aimed at during the
period with increased sales.

The Production Manager feels otherwise. To improve the demand, the
selling price per unit has to be reduced by 3%. As a result, the sales
volume can be increased to attain a profit level of Rs. 4,000 for the
quarter.

As a Cost Accountant, you are required to evaluate the 3 proposals

and calculate additional sales volume that required in each case and
advice the M.D. to take decision. [20]
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[4070]-207
M. Com. (Semester - IlI) Examination - 2011
BUSINESS PRACTICES AND ENVIRONMENT
SPECIAL PAPER - Il
MODERN BUSINESS PRACTICES
(Group - C)
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions :

(1) All questions are compulsory.

(2) All questions carry equal marks.

Q.1) Explain organisation and objectives of Maharashtra Chamber of Commerce.
OR
Q.1) Explain functions of Maratha Chember of Commerce.

Q.2) Explain objectives and functions of Federation of Indian Chamber of
Commerce and Industries.

OR
Q.2) Explain objectives and functions of Public Enterprises in India.
Q.3) Explain characteristics of Indian Agricultural Business.

OR

Q.3) State Government Policies relating to Agricultural Business.
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Q.4) Explain the term ‘Agricultural By-product’. Explain nature and disposal
of Agricultural By-product.

OR

Q.4) Explain impact of WTO (World Trade Organisation) on Agri-business
Practices in India.

Q.5) Write short notes : (Any Four)
(@) Agricultural Tax Policy
(b) Public Utilities
(c) Poultry Business
(d) Confederation of Indian Industries
(e) Farm Waste

() Autonomy of Public Enterprises
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[4070]-208

M. Com. (Semester - Il1) Examination - 2011
BUSINESS PRACTICES AND ENVIRONMENT
SPECIAL PAPER - IV
BUSINESS ENVIRONMENT ANALYSIS
(Group - C)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2)  All questions carry equal marks.

Q.1) “Private and Public Sector, both contributed for Industrial Growth in
India.” Discuss. [20]

OR

Q.1) State importance of Small and Cottage Industries. Explain problems
faced by Small and Cottage Industries. Suggest remedies for the
same. [20]

Q.2) What is Financial Environment of Business ? Explain role of Foreign
Banks and Non-banking Institutions. [20]
OR

Q.2) (A) Explain role of ‘Capital Market’ in Financial Environment
of Business. [10]

(B) Explain role of Co-operative Bank in India, in Financial
Environment of Business. [10]

Q.3) What are different techniques of Environmental Analysis ? State
limitations of these techniques. [20]

OR
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Q.3) (A) Define Poverty. How it affects Growth of Business ? [10]

(B) What is Parallel Economy ? Describe its effects on Growth
of Business. [10]

Q.4) What is Global Environment ? Explain impact of Cultural and

Demographic Environment on World Trade. [20]
OR
Q.4) (A) State importance of Global Environment. [10]
(B) “Inflation adversely affects Growth of Business.” Comment
critically. [10]
Q.5) Write notes : (Any Two) [20]

(a) Foreign Technology and MNC

(b) Indian Money Market

(c) Competition Analysis - Rivalry Amongst Existing Firms
(d) Causes of Unemployment

(e) Lack of Technical Knowledge and Information
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[4070]-209
M. Com. (Semester - IlI) Examination - 2011
BUSINESS ADMINISTRATION
SPECIAL PAPER - 111
MARKETING MANAGEMENT
(Group - D)
(2008 Pattern)
3 Hours] [Max. Marks : 100

Instructions :

(1) All questions are compulsory.
(2)  All questions carry equal marks.

Q.1)

Q.1)

Q.2)

Q.2)

Q.3)

Q.3)

What is meant by ‘Marketing” ? Explain Evaluation of Marketing.
OR

Define ‘Rural Marketing’. Explain difficulties and suggestions for
improvement of ‘Rural Marketing’.

What is ‘Consumer Behaviour’ ? Explain environmental factors affecting
Consumer Behaviour.

OR

Define CRM (Customer Relationship Management). Explain significance
of Customer Data Base for forming strong Customer Relationship.

What is ‘New Product Development Strategy’ ? Explain failure and
remedies of ‘New Product Development Strategy’.

OR

What do you meant by ‘Buying Motive’ ? Explain various Buying Motives
with suitable examples.
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Q.4) Define the term *‘Marketing Communication’. Explain new trends in
Globalised Marketing Communication Scenario.

OR

Q.4) Define ‘Branding’. Explain ‘Measurement of Brand Equity’ and ‘Brand
Awareness’.

Q.5) Write short notes : (Any Four)
(@) Tele-marketing
(b) Consumer Education
(c) Media Management
(d) Importance of Service Marketing
(e) Consumer Protection

(f)  Appeals in Advertising
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M. Com. (Semester - IlI) Examination - 2011
BUSINESS ADMINISTRATION
SPECIAL PAPER - IV
FINANCIAL POLICIES AND PRACTICES
(Group - D)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2)  All questions carry equal marks.

Q.1) What do you meant by Profit Planning ? Explain various Approaches to
Profit Planning.

OR
Q.1) Explain in detail ‘Dividend Policy’.

Q.2) Explain role of Balance Sheet and Cash Flow Statement in framing
Financial Policy.

OR
Q.2) Describe various New Financial Instruments.
Q.3) (A) What is Venture Capital ? State its functions.

(B) Role of Venture Capital in Developing Countries
OR

Q.3) (A) Leasing as a Source of Business Finance

(B) Foreign Exchange Markets
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Q.4) (A) Write a note on ‘Retention of Earning’.
(B) What is Over and Under Capitalisation ?
OR

Q.4) State meaning, benefits and need of Derivative Market.

Q.5) Write short notes : (Any Four)
(@ International Parity Relationship
(b) Zero Interest Bond
(c) Break-even Analysis
(d) Business Combination
(e) ‘Depreciation’ as a Method of Internal Financing

()  Forms of Mergers
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[4070]-211

M. Com. (Semester - IlI) Examination - 2011

COMMERCIAL LAWS AND PRACTICES
SPECIAL PAPER - 111
E-SECURITY AND CYBER LAWS

(Group - E)

(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instruction

All questions are compulsory and carry equal marks.

Q.1) Explain in detail any four Security requirements for E-commerce.
OR
Q.1) How the Computer Based Information Systems are attacked ? Explain.

Q.2) What are the various types of Internal and External Threats to Electronic
System ? How these can be controlled ? Explain.

OR
Q.2) Write short notes :
(a) HTML
(b) Features of Front Page Software Package
(c) XML
(d) www
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Q.3) What do you understand by the term *Cyber Law’ ? Discuss the significant
features of Cyber Law.

OR

Q.3) Explain in brief the provisions of Information Technology Act, 2000 relating
to composition and functions of Cyber Regulation Advisory Committee and
Cyber Regulation Appellate Tribunal.

Q.4) Answer the following :
(@) Who is a “Subscriber’ ? What are his duties ?

(b) Elaborate Concepts of Conventional and Electronic Contract and point
out the distinction between the two.

OR

Q.4) State and explain various Offences Made Punishable under I.T. Act, 2000.
Q.5) Write brief notes : (Any Four)

(a) Privacy lIssues

(b) Creating Web Pages

(c) E-governance

(d) Retention of E-record

(e) Role of ISP

(f)  Penalties for Damage to Computer System
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[4070]-212

M. Com. (Semester - Il1) Examination - 2011
COMMERCIAL LAWS AND PRACTICES
SPECIAL PAPER - IV
LAWS RELATING TO COPYRIGHTS AND DESIGNS
(Group - E)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2)  All questions carry equal marks.

Q.l) What is the difference between ‘Licence and Assignment' of Copyright ?
Describe modes of Assignment of Copyright. State purposes for which the
Copyright Board may grant compulsory licences.

OR
Q.l) What is 'Infringement of Copyright' ? What acts do not constitute as
Infringement of Copyrights ?
Q.2) Explain provisions of the Designs Act, 2000 with reference to Infringement
(Piracy) of Registered Design.
OR

Q.2) What is 'Layout Design' ? Which Layout Designs are registerable under
the Layout Designs Act, 2000 ? State rights conferred by Registration of
Layout Design.

Q.3) Explain the term 'Geographical Indication'. Who may apply for Registration
of Geographical Indication ? State procedure for and duration of Regis-
tration of Geographical Indication.

OR
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Q.3) What are the objectives of the Protection of Plant Varieties and Farmers'
Rights Act, 2001 ? State Plant Varieties which can be and cannot be
registered under this Act.

Q.4) Answer the following in brief : (Any Two)

(a)
(b)
(©)

(d)

What are the characteristics of Copyright ?
State Powers and Duties of Controller under the Designs Act, 2000.

State provisions of the Geographical Indications of Goods Act, 1999
regarding Infringement of Geographical Indication.

Write a note on "the Plant Varieties and Farmers’ Rights Protection
Authority".

Q.5) Write short notes : (Any Four)

(a)
(b)
(©)
(d)
(€)
()

Register of Copyrights

Copyright Societies

Registerable Industrial Designs

Opposition to Registration of Layout - Design
'‘Appellate Board' under the G. I. of Goods Act, 1999

Rights and Privileges of Breeders and Researchers
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[4070]-213

M. Com. (Semester - IlI) Examination - 2011
CO-OPERATION AND RURAL DEVELOPMENT
SPECIAL PAPER - lII
INTERNATIONAL CO-OPERATIVE MOVEMENT
(Group - F)

(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions :

(1) All questions are compulsory.

(2) All questions carry equal marks.

Q.1) State and discuss Principles of Co-operation. [20]
OR
Q.1) Discuss Growth of Co-operative Movement in England with
special reference to Robert Owen’s Contribution. [20]
Q.2) What is the role of Co-operatives in the Mixed Economy ? [20]
OR
Q.2) Why do we have Co-operatives in both Capitalistic and Socialistic
Systems ? [20]
Q.3) What changes were effected in the Principles of Co-operation by
International Co-operative Alliance (ICA) ? [20]
OR
Q.3) Briefly review progress of various Co-operative Societies in Japan. [20]
Q.4) Is Co-operative a System or a Sector ? [20]
OR
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Q.4) Briefly review emerging trends in Co-operative Institutions the
World over. [20]

Q.5) Write short notes : (Any Two) [20]
(@) Philosophy of Co-operation
(b)  Agricultural Co-operatives in Israel
(c) Economics of Co-operation

(d) Organisational Structure of ICA
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M. Com. (Semester - IlI) Examination - 2011
CO-OPERATION AND RURAL DEVELOPMENT
SPECIAL PAPER - IV
MANAGEMENT OF CO-OPERATIVE BUSINESS
(Group - F)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.

(2)  All questions carry equal marks.

Q.1) How to evaluate Performance of Co-operative Business ?
OR

Q.1) Explain importance of Economic and Commercial Viability of
Co-operative Institutions.

Q.2) Describe Business Policies and Practices followed by Primary Agricultural
Credit Co-operative Societies.

OR

Q.2) Explain role of District Central Co-operative Banks in the Agricultural
Development of Maharashtra State.

Q.3) Explain advantages and limitations of Housing Co-operative Institutions.

OR
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Q.3) “Agricultural Processing Industries are useful for the Economic Development
of Agriculturists.” Comment.

Q.4) Describe importance and problems of Dairy Co-operative Institutions.
OR

Q.4) Briefly explain success story of Shetkari Sahakari Sangh, Kolhapur.

Q.5) Write short notes : (Any Two)

(a) Role of Co-operative Department in Administration of Co-operative
Institutions

(b) Marketing Co-operative Institutions
(c) Problems of Sugar Co-operative Industries

(d) Industrial Relations in Co-operative Business
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[4070]-215

M. Com. (Semester - IlI) Examination - 2011
ADVANCED BANKING AND FINANCE
SPECIAL PAPER - Il
BANKING LAW AND PRACTICE

(Group - G)

(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :

(1) All questions are compulsory.

(2) Figures to the right indicate full marks.

Q.1) What is Money Laundering ? What are the Punishments for Money
Laundering under the Prevention of Money Laundering Act, 2002 ? [20]

OR
Q.1) Define the following as defined under the Prevention of Money
Laundering Act, 2002 : [20]
(@ Banking Companies
(b) Person
(c) \alue

Q.2) Spell-out obligations that are imposed on a Banker by the ‘Banker-
Customer’ Relationship. [20]

OR
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Q.2) What does ‘Limitation’ mean as per the Limitation Act, 1963 ? How
does Law of Limitation become applicable to the business of
Banking ? [20]

Q.3) What do you understand by an Asset - Liability Mismatch ? What
are the grounds on which Mismatches between Assets and Liabilities
may occur ? [20]

OR

Q.3) What are the different Risks associated with Asset - Liability
Management ? Spell-out in detail the strategies to manage these Risks. [20]

Q.4) What do you understand by a Loan Portfolio ? ‘Diversifying Loan
Portfolio is a key to Asset Management.” Comment. [20]

OR

Q.4) Account for changing definitions of Non-performing Assets. How does
identification and reduction of Non-performing Assets offer strength
to Banks ? [20]

Q.5) Write notes : (Any Two) [20]
(@ RBI Guidelines for Asset - Liability Management
(b) Income Recognition and Asset Classification Norms
(c) Various Modes of Electronic Funds Transfer

(d) Mergers and Acquisitions in Banks
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[4070]-216

M. Com. (Semester - IlI) Examination - 2011
ADVANCED BANKING AND FINANCE
SPECIAL PAPER - IV
MONETARY POLICY
(Group - G)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.

(2)  All questions carry equal marks.

Q.1) Explain Recommendations of Working Group on Money Supply.
OR
Q.1) Discuss Money Supply and Price Stability in detail.

Q.2) What is Monetary Policy ? Discuss the following objectives of Monetary
Policy :

(a) Exchange Rate Stability
(b) Balanced Growth
OR

Q.2) What is Monetary Management ? Explain conflict between the following
objectives :

(@) Price Stability

(b) Generation of Employment
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Q.3) Explain mechanism and effectiveness of Qualitative Instruments of Monetary
Policy.

OR
Q.3) Discuss Monetary Policy of RBI in the last Five Years.

Q.4) Explain role of RBI in Rural Credit.
OR

Q.4) Explain role of RBI in Industrial Finance.

Q.5) Write short notes : (Any Two)
(@) Money Supply Measures of RBI
(b) Concept of High Powered Money
(c) Open Market Operations
(d) RBI and Export Credit
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[4070]-217

M. Com. (Semester - IlI) Examination - 2011
ADVANCED MARKETING
SPECIAL PAPER - I1l1
CUSTOMER RELATIONSHIP MANAGEMENT AND RETAILING
(Group - H)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) All questions carry equal marks.

Q.1) Define Retailing. Bring out Significance of Retailing in the present Indian
Scenario.

OR

Q.1) Write an elaborate note on the different types of Retailers.

Q.2) What are the different types of Locations available to Retailers ? What
are the factors that affect Retail Location Decision.

OR

Q.2) Write a note on the evolution of Relationship Management and its
importance in the Indian Context.

Q.3) Write a note on types of Store Layouts. Bring out advantages and
disadvantages of the different types of Store Layouts.

OR

Q.3) How Floor Space is assigned to Merchandise and Departments ?
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Q.4) Define Retail Supply Chain Management and elaborate upon Integrated
Supply Chain Planning.

OR

Q.4) How will Relationship Marketing differ, when undertaken for Services and
when undertaken for Consumer Products.

Q.5) Write short notes on any four of the following :
(a) Dynamics of a Website
(b) Digital Marketing
(c) Store Facade
(d) Store Administration
(e) Cashiering Process

()  Managing Reverse Logistics
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M. Com. (Semester - IlI) Examination - 2011
ADVANCED MARKETING
SPECIAL PAPER - IV
SERVICE MARKETING
(Group - H)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2)  All questions carry equal marks.
(3) Figures to the right indicate full marks.

Q.1) Define the term ‘Service Marketing’. Explain various Classifications

of Services. [20]
OR
Q.1) What is Service Life Cycle ? Explain stages of Service Life Cycle
in detail. [20]
Q.2) Explain various methods used in Pricing the Services. [20]
OR
Q.2) What is ‘Physical Evidence’ ? Explain nature and importance of
‘Physical Evidence’. [20]

Q.3) What is Advertising ? Explain objectives and various Elements of
Advertising. [20]

OR

Q.3) Explain Contribution of Services to Customer Satisfaction in detail. [20]
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Q.4) What is Technology Service ? Explain various Processes of

Technology Service. [20]
OR
Q.4) State factors determining the ‘Market Segmentation’. Explain merits
and limitations of Service Market Segmentation. [20]
Q.5) Write short notes : (Any Four) [20]

(@) Demand and Supply of Services
(b) Nature of Services

(c) Service Blueprinting

(d) Charitable Services

(e) Importance of NGO’s Services

()  Service Encounter
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[4070]-301

M. Com. (Semester - I11) (Compulsory) Examination - 2011
BUSINESS FINANCE
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) All questions carry equal marks.

Q.1) Define the term Business Finance. Describe objectives and importance of
Business Finance.

OR
Q.1) Write a detailed note on Future Value and Present Value.
Q.2) What is the Strategic Financial Planning ? Explain objectives and steps of
Strategic Financial Planning.
OR

Q.2) Define the term Capitalisation. Explain in detail Overcapitalisation and
Undercapitalisation.

Q.3) What is a Preference Share ? Explain characteristics, advantages and
disadvantages of Preference Shares.
OR
Q.3) What is meant by Debenture ? Describe in detail the characteristics and
classification of Debentures.
Q.4) What is Short Term Finance ? Explain in detail the Sources of Short Term
Financing.

OR
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Q.4) Explain evaluation of project in respect of the following aspects :
(@  Financial Analysis

(b) Commercial Analysis

Q.5) Write short notes : (Any Four)
(@ Scope of Business Finance
(b) Limitations of Financial Planning
(c) Background of Dividend Policy
(d) Estimating Financial Requirements
(e) Working Capital

(H  Importance of Project Financing
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M. Com. (Semester - I11) (Compulsory) Examination - 2011
INDUSTRIAL ECONOMICS
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions :

(1) All questions are compulsory.

(2) All questions carry equal marks.

(3) Answer should be precise and to the point.

Q.1) State and explain scope and significance of the Study of Industrial

Economics. [20]
OR
Q.1) Discuss Inter-relationship between Industrial Development and Economic
Development. [20]
Q.2) Discuss Weber’s Theory of Location of Industries. [20]
OR
Q.2) What is Industrial Productivity ? Explain factors affecting Industrial
Productivity. [20]
Q.3) What is Special Economic Zone ? What are the Problems of Special
Economic Zones in India ? [20]
OR
Q.3) Explain causes of Regional Industrial Imbalance in India. [20]
Q.4) Explain impact of Industrialisation on Global Warming. [20]
OR
Q.4) Discuss factors influencing location of Industries. [20]
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Q.5) Write short notes : (Any Two)

@)
(b)
(©)
(d)

Sargent Florence’s Theory of Industrial Location
Importance of Small Scale Industries in India
Problems of Public Sectors in India

Impact of Industrialisation on Employment
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M. Com. ( Semester - 111) (Compulsory) Examination - 2011
BUSINESS STATISTICS
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Use of calculator and statistical table is allowed.
(4) Symbols and abbreviations have their usual meanings.

Q.1) Attempt any four of the following : [20]
(@ Define the following terms :
(i) Random Variable (r.v.)
(i) Mean of a Discrete Random Variable (d.r.v.)
(i)  Parameter
(iv) Critical Region
(v) Level of Significance (l.0.s.)
(b) The chance that a bomb dropped from an aeroplane hits target
IS 1/5. If 5 such bombs are dropped, what is the chance that :
(i) target is hit ? (ii) target is hit twice ?
(c) In an industrial complex, the average number of fatal accidents

per month is 0.5. The number of accidents follows Poisson
Distribution. What is the probability that a month will pass :

(i)  without an accident ?

(i)  with one fatal accident ?

(Given e%° = 0.606531)
(d) State properties of Normal Distribution based on area.
(e) Explain working of a Single Sampling Plan.

()  Afair dieis rolled once. Let r.v. X denote score on the uppermost
face of the die. Find E(X) and V(X).
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Q.2) Attempt any four of the following : [20]

(@ Daily Wages of 1,000 workers in a factory are normally distributed
with mean Wage Rs. 170 and SD of Rs. 5. Estimate number
of workers with daily wage between Rs. 170 and Rs. 175.

(b) A Stenographer claims that she can take dictation at the rate of
120 words/minute on an average. In 100 trials, she demonstrated
an average rate of 116 words with SD 15 words. Can we accept
her claim at 1% l.o.s. ?

(c) In an health survey on the relation between condition of mother
and her child, the following results were obtained :
Condition \ Condition of | Clean Dirty
of Mother Child
Clean 12 26
Dirty 16 06
Does there exist any relation between the condition of mother
and condition of her child ? (Given Value of X? for 1 d.f. at
5% l.o.s. = 3.84)

(d) Define the following terms :
(i) Process Control
(i)  Producer’s Risk
(i) LTPD
(iv) AOQL
(v) Time Series

() Explain method of moving averages to measure trend in a time
series.

(H A machine puts out 16 defective articles in a sample of 500.
After overhauling, it puts out 3 defective articles in a batch of
100. Is there any significant difference in the performance due
to overhauling ? Use o = 0.05.
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Q.3) Attempt any four of the following : [20]
(@ A Computer Operator claims that she can type at the rate of
100 words/minute on an average. In 10 trials, she typed at an
average rate of 116 words with a SD of 15 words. Can we accept
her claim at 5% l.o.s. ?
(Given value of t for 9 d.f. at 5% l.o.s. = 1.383)
(b) Distinguish between Specification Limits and Tolerance Limits.
(c) Compute AOQ of a Single Sampling Plan with N = 10,000,
n = 100 and ¢ = 3. The quality of the submitted lot is 0.1%
defective.
(d) Explain Construction of a C - chart.
() A manufacturer produces boxes of cotter pins. Each box contains
500 pins. The proportion of defective pins in a box is 0.001.
A retailer purchases 100 such boxes. Using Poisson approximation,
find how many boxes will contain at least 5 defective pins ?
(f)  Define the following terms :
(i)  Null Hypothesis X
(i)  Statistics
(i) ATI
(iv) Defective
(v)  Acceptance Region
Q.4) Attempt any two of the following : [20]
(@ A machine is set to produce packets of a given weight. The results
of 10 samples each of size 5 are given below :
Mean (X)| 15|15 |17 |18 | 17 | 14 | 18| 15|17 |16
Range R)| 7|4 | 7|9 | 8| 7 12| 4|11 |5
Draw and R charts and comment on the state of control.
(Given A, = 058, D, = 0, D, = 2.12)
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(b)

(©)

Below are given the figures of production of steel (in thousand
tonnes) in a factory :

Year 2003 [ 2004 [2005 | 2006 | 2007 {2008 | 2009

Production 80 90 92 83 94 99 92

(i)  Fit a straight line trend to these data.
(i) Plot data on the graph and show trend line.

Twelve Managers were selected from a company and were given
a test to test their managerial skill. X denotes marks of this test.
Further, they were given intensive training for a month. Another
test was conducted for them. Y denotes marks in this second
test.

X | 50| 42(51]|26(35|42|60|41| 70| 55|62 |38

Y| 62| 40(61|35(30| 52| 68|51|84| 63|72 |50

Was there a significant difference between the average marks in
the two tests ?

(Given value of t for 11 d.f. at 5% l.o.s. = 2.20)

Q.5) Attempt any two of the following :

@)
(b)
(©)

Describe Components of a Time Series.
Explain how a P-chart works.

The following table gives number of imperfections observed
on 1 meter pieces of cloth selected randomly from 9 different
bales :

[20]

Bale No. 112 (3[4 |5 |6 |7 ]| 8]09

No. of
Imperfection| 8 [ 16 |14 (19 |11 (15 [ 8 | 11 (21

Compute control limits and plot control chart for the number
of imperfections/meter of cloths. What value of the number of
Imperfections would you suggest for future use ?
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[4070]-304

M. Com. ( Semester - 111 ) Examination - 2011
ADVANCED ACCOUNTING AND TAXATION
SPECIAL PAPER -V
ADVANCED AUDITING
(Group - A)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.

(2) All guestions carry equal marks.

Q.l) What is Audit Programme ? List factors to be considered while framing an

Audit Programme. What are the measures to overcome disadvantages of Audit
Programme ?

OR
Q.1) How would you vouch the following items ?
(@  Salaries and Wages
(b) Payments to Auditors
(c) Petty Cash
(d) Dividend Received
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Q.2)

Q.3)

Q.3)

Q.4)

Q.4)

Q.5)

Write short notes : (Any Two)

(@ Role of Evidence in Auditing

(b)  Principles of \erification and Valuation of Assets
(c) Audit Assurance Standard Board in India

(d) Internal Control Questionnaire

Explain and illustrate meaning of ‘Flow Chart’. How can Flow Charts be useful
to the Auditor ? What are the limitations of Flow Chart ?

OR

Explain preliminary steps that an Auditor will go through before starting Audit
of Limited Company.

What is Corporate Governance ? As an Auditor how would you verify
Compliance of Corporate Governance ?

OR

Determine special aspects of CIS Environment and effects of CIS Environment
on Audit.

Write short notes : (Any Two)
(@ Audit Report with special reference to CARO, 2003
(b) Constitution and Powers of Audit Committee

() Importance of Computer Assisted Audit Technique (CAAT) in Computer
Information System (CIS) Environment

(d)  Special Aspects in Audit of E-commerce Transaction
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M. Com. ( Semester - 111 ) Examination - 2011

ADVANCED ACCOUNTING AND TAXATION
SPECIAL PAPER - VI
SPECIALISED AREA IN AUDITING
(Group - A)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) All guestions carry equal marks.

Q.1) What is Internal Audit ? Explain nature, scope and purpose of Internal Audit.
OR

Q.1) Discuss Legal Provisions relevant to Tax Audit.

Q.2) Write short notes : (Any Two)
(@ Tax Audit Programme
(b) Review of Internal Control
(c) Steps in Bank Audit
(d) Audit Report of Banks

Q.3) Explain special features of Audit of Co-operative Society, specially with
reference to Appointment of Auditor and contents of Audit Report based
on provisions of Maharashtra State Co-operative Societies Act, 1960 and
their Rules, 1961.

OR
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Q.3) Indicate special points to which your attention should be directed in Audit
of on Educational Institution.

Q.4) Describe special features of the Audit of Hospital and Hotel.
OR

Q.4) State objects of Government Audit and role of Comptroller and Auditor
General of India (C and AG).

Q.5) Write short notes : (Any Two)
(@ Audit Classification in Case of Co-operative Society
(b) Audit of Public Sector Undertaking

(c) Public Accounts Committee
(d) Audit of Local Bodies
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M. Com. ( Semester - 111 ) Examination - 2011
ADVANCED COST ACCOUNTING AND COST SYSTEM
SPECIAL PAPER -V
COST AUDIT
(Group - B)

(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions :
(1) All questions are compulsory.
(2) All questions carry equal marks.

Q.1) Define the term 'Cost Audit'. Explain objectives of Cost Audit.
OR
Q.1) Explain the term Cost Audit and state Scope of Cost Audit.

Q.2) Explain difference between Cost Audit and Financial Audit.
OR

Q.2) Explain legal provisions relating to Qualifications, Appointment and Remu-
neration of Cost Auditor.

Q.3) Discuss stages in the Process of Planning and Execution of Cost
Audit.

OR

Q.3) What is meant by Cost Record ? List various books required to be
maintained under Cost Audit Record Rules.

Q.4) What is meant by Internal Control System ? Explain role of Cost Auditor
in relation to evaluation of Internal Control System of the items to be covered
in Cost Audit Report.

OR
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Q.4) Explain Pre-requisites of Cost Audit in Electronic Data Processing
Environment.

Q.5) The following information is available from the Financial Books of a
Company having a normal production capacity of 60,000 units for the
year ended 31st March, 2011 :

1)
)
3)

(4)

®)

(6)

(7)

Sales Rs. 10,00,000 (50,000 units)
There was no opening and closing stock of Finished Goods.

Direct Material and Direct Wages Costs were Rs. 5,00,000 and
Rs. 2,50,000 respectively.

Actual Factory Expenses were Rs. 1,50,000 of which 60% are
fixed.

Actual Administrative Expenses were Rs. 45,000 which are completely
fixed.

Actual Selling and Distribution Expenses were Rs. 30,000 of which
40% are fixed.

Interest and Dividends received Rs. 15,000.

You are required to :

@)

(b)

(€)

Find out Profit as per Financial Books for the year ended 31st
March, 2011.

Prepare Cost Sheet and ascertain profit as per cost accounts for the
year ended 31st March, 2011 assuming that the Indirect Expenses are
absorbed on the basis of normal production capacity.

Prepare a statement reconciling profits shown by Financial and Cost
Books.
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M. Com. ( Semester - 111) Examination - 2011
ADVANCED COST ACCOUNTING AND COST SYSTEM
SPECIAL PAPER - VI
MANAGEMENT AUDIT
(Group - B)

(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions :
(1) Attempt all questions.
(2) All questions carry equal marks.
(3) Use of non-programmable calculator, wherever necessary, is
allowed.

Q.1) Define Management Audit. Explain its objectives and relationship with
different Audits.

OR

Q.1) What is Corporate Image ? Explain programme required to be sought out
for conduct of the Corporate Image Audit.

Q.2) Explain :
(@ The Preliminaries of Management Audit
(b) Management Audit Programme

Q.3) Explain :
(@ Approach
(b) Method

(c) Evaluation
(d) Recommendations
() Reporting
Under Operational Audit.
OR
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Q.3) Explain :
(@ Corporate Service Audit

(b) Social Cost - Benefit Analysis

Q.4) Write short notes : (Any Four)
(@ Importance of Management Audit
(b) Essentials of Management Audit
(c) Evaluation of Corporate Culture
(d) Evaluation of Personnel Development
(e) Objectives of Operational Audit
()  Management Audit and Cost Audit

Q.5) From the following data relating to 3 Mutual Funds for 2009, evaluate
Corporate Image of each Mutual Fund and rank them accordingly :

Birla Sunlife | DSP Black-| Sahara
Frontline Equity Rock Growth
Top 100
Equity
NAV 41.40 52.12 46.57
Fund Size (Rs. Crore) 383.61 994.00 3.28
Returns :
Ist year (-) 32.81 (-) 26.47 | (-) 25.67
Iird year (=) 07.02 2.75 2.76
Vth year 17.60 18.87 18.90
Expense Ratio (%) 2.31 2.08 2.48

OR
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Q.5) From the following Project Network, determine :

@)
(b)
(c)
(d)
)

Earliest expected completion time for each event.
Latest allowable completion time for each event.
Slack Time for each event.

The Critical Path.

The probability that the project will be completed on schedule, if the
scheduled completion time is 38 and according to normal curve table,
the area of Z = 1.41 is given as 0.4207 :

Project Diagram
ET = 20
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M. Com. ( Semester - 111 ) Examination - 2011

BUSINESS PRACTICES AND ENVIRONMENT
SPECIAL PAPER -V
ENTREPRENEURIAL BEHAVIOUR
(Group - C)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) All guestions carry equal marks.

Q.1) Define Entrepreneurship. Explain characteristics of Entrepreneurship.
OR

Q.1) Discuss popular myths of Entrepreneurship. Explain how are these myths
wrong ?

Q.2) Explain Motivation Process. Discuss characteristics of a person with high
need for Achievement.

OR

Q.2) What are the factors that motivate people to become Entrepreneurs.

Q.3) You are the Co-ordinator of ‘Entrepreneurship Cell’ of your college. Prepare
6 days ‘Entrepreneurship Development Programme’ for the graduate
students. Present a proposal to the college, stating training inputs, speakers,
training methodology, duration of session and budget.

OR
Q.3) What do you mean by Entrepreneurship Development Programme ? Discuss
Process of Entrepreneurial Development.
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Q.4) Discuss scope of Entrepreneurship in the Service Sector.

OR

Q.4) Explain process of lIdentification of Business Opportunity.

Q.5) Write short notes : (Any Four)

@)
(b)
(€)
(d)
)
(f)

Post-training Support

Training Models

Behavioural Tests

Sources of Development of Achievement Motivation
Social Traits of Entrepreneur

New Trends in the Service Sector
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M. Com. ( Semester - 111) Examination - 2011
BUSINESS PRACTICE AND ENVIRONMENT
SPECIAL PAPER - VI
ENTREPRENEURSHIP DEVELOPMENT PATTERN
(Group - C)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) All guestions carry equal marks.

Q.1) State role played by Government in Entrepreneurship Development.
OR
Q.1) Write short notes :

(@ Entrepreneurship Development Programme
(b) Dot Com Entrepreneurship
(c) Research and Development

(d)  Network Analysis

Q.2) What is Project Management ? State different issues in Project Management.
OR

Q.2) Explain role played by Specialized Institution in Entrepreneurship Development
Programme.
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Q.3) Explain role played by Project Management Co-ordination and Control with
Industrial Sickness.

OR

Q.3) What is ‘PERT’ ? Explain importance of Project in Developing Modern
Business Design.

Q.4) Write short notes :
(@ Project Direction
(b) Project Monitoring
(c) Critical Path Method
(d) Corporate Strategy
OR
Q.4) State Problems in Entrepreneurship Development in India.

Q.5) Write short notes :
(@ Entrepreneurship within Organisation
(b) Business Incubation
(c) Different Issues Related to Entrepreneurship Development

(d) Scope for Entrepreneurship in Service Sector
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M. Com. ( Semester - 111 ) Examination - 2011

BUSINESS ADMINISTRATION
SPECIAL PAPER -V
HUMAN RESOURCE MANAGEMENT
(Group - D)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) All questions carry equal marks.

Q.1) What is ‘Human Resource Management’” ? Explain scope of Human
Resource Management.

OR
Q.1) What are the challenges of tomorrow faced by Human Resource Management ?

Q.2) Explain in details Internal and External Sources of Recruitment.
OR
Q.2) Write short notes :
(@ Manpower Planning

(b)  Selection Process

Q.3) Explain importance of Training of Employees in Modern Industries.
OR
Q.3) Explain different Methods of Training.
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Q.4) Write short notes :
(@ Causes of Transfer
(b) Basis of Promotion - Seniority or Merit
OR
Q.4) What is ‘Performance Appraisal’ ? Explain various Methods of Performance

Appraisal.
Q.5) Write short notes : (Any Four)
(@ Approaches to Human Resource Management
(b) Training Aids
(c) Job Evaluation
(d) Kinds of Retirements
() Human Resource Outsourcing

() Human Resource Audit
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[4070]-311
M. Com. ( Semester - 111 ) Examination - 2011

BUSINESS ADMINISTRATION
SPECIAL PAPER-VI
ORGANISATIONAL BEHAVIOUR
(Group - D)

(2008 Pattern)

Time : 3 Hours] [Max. Marks :

Instructions :
(1) All questions are compulsory.

(2) All questions carry equal marks.

100

Q.1) (A) Describe in brief Goals of Organisational Behaviour.
(B) State role of Information Technology in Organisation.
OR

Q.1) Explain various models of Organisational Behaviour.

Q.2) Explain in detail ‘Creating and Maintaining Organisational Culture’.
OR

Q.2) Explain with suitable examples various Attributes of Personality.

Q.3) Describe Process of Impression Management.
OR

Q.3) State various Theories of Motivation.
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Q.4) Describe various types of Conflicts and their effects on Organisation.
OR
Q.4) (A) What are the causes of Stress ?
(B) State types of Groups.

Q.5) Write short notes : (Any Four)
(@ Team Building
(b) Job Satisfaction
(c) Types of Motives
(d)  Emotional Intelligence
(e) Impact of Globalisation on Organisational Behaviour
()  Attitude Change
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[4070]-311
AASt IR
d% : 3 dmM] [Tor 0T ¢ 100
qAT
(1) & 997 Ao 37=ard 3778
(2) @T GIAAT FHT T IE.
(3) TIAMATST HeE ST F9ATAFT TETAl.

7.1) (37) TESATHS® qaqTdr IS aEgw faers &
() wHaSAHY HIlEdr TR GIHST T,
e
9.1) HEOCATHE qaqaTar Oy gred T F.

9.2) WUSATHE® THdrEl MG 9 Saq gfaeay T F3.
T
9.2) SAaAErdl fataer [oraited IETEviEEd W &

9.3) YW IRl giear faew &
T
9.3) srfvoore fataer Ragia @mm.
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9.4) g Iy gh 99 S M7 & HEeHdY g 9RomTH Tq9TE &
TRt
9.4) (31) QIOEUIETE! BRI B0 ?

(F) e YHRE FEI.
9.5) Jew feur f@aEr o (HoEEt qn)
(37) @9 qreor

() S FHEH

(F) YEBT THR

(3) WEES Al

(3) ST IHIOTET HESATHS  aaaTdie  TROTH

(®) YA a5
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[4070]-312

M. Com. ( Semester - 111) Examination - 2011

COMMERCIAL LAWS AND PRACTICES
SPECIAL PAPER -V
LAWS RELATING TO INTERNATIONAL BUSINESS
(Group - E)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instruction :

All questions are compulsory and carry equal marks.

Q.1) Explain meaning of International Law. Discuss scope of International Law.
OR

Q.1) What are the duties of Individual in International Law ?

Q.2) Explain Modern Systems of International Law.
OR

Q.2) Explain sources and types of International Law.

Q.3) Write notes :
(@ Neo Factor Proportion Theory
(b) Ohlin Theory
OR

Q.3) What are the National Regulations of International Business ?
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Q.4) Write a note on International Court of Justice and its Jurisdiction.
OR
Q.4) What are the Diplomatic Modes of Conflict Resolution ?

Q.5) Write short notes : (Any Four)
(@ International Custom
(b) Country Similarity Theory
(c) Free Trade V/s. Protection
(d) Classical Approach
(e) Arbitration
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A HUTAT
3% : 3 d™] [TFUT T[0T ;100
Q?FIT by
(1) @F g9 3TT9TF 308
(2) TG FoATAT FHATT TUT 3ATET.
(3) TIAMATST HeE ST F9ATAFT TETAl.

7.1) SMAET FEEME 7 Te FIY. AR BT AT et T=t $4.
Tehar
7.1) AT HHaE JuRe wdd BHF M_d 9

9.2) MAWEE FHAE! A FETGA T B,
B
9.2) JAWET FEA AT T GHR T H.

9.3) feur forer
(31) T3 ®eeT graie= Nagid

() 3TEfed NIgid
T

7.3) IMawe @R U w (National Regulations) &/ 3med ©
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7.4) SMAWET @ T <" @ qAT oy wsdieor &1
Tehar

9.4) @ HUswme (Conflict Resolution) ®WT &/ 3med ©

g.5) feur foter : (U@l 9w)
(37) 3ITMaWE™ 99T (Custom)
(T) TS A gid

(F) T AUR [G66 FdaeTH D

(3) Fmawa 3wra (Classical Approach)

(3) o=
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[4070]-313

M. Com. ( Semester - 111 ) Examination - 2011

COMMERCIAL LAWS AND PRACTICES
SPECIAL PAPER - VI
WORLD TRADE ORGANISATION - NORMS AND PRACTICES
(Group - B)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) What is World Trade Organisation ? Explain objectives and functions
of World Trade Organisation. [20]

OR
Q.1) Explain basic principles and benefits of W.T.O. Trading System. [20]

Q.2) Comment on the W.T.O. Agreement’s effect on least developed

countries. [20]
OR
Q.2) Explain the following :
(@ Trade Related Investment Measures (TRIMS) [10]
(b) Trade in Counterfeit Goods [10]

Q.3) Explain various groups and issues in the Uruguay Round (U.R.). [20]
OR

Q.3) Describe limitations of GATT and how Dunkel’s Proposals led to
the formation of W.T.O. [20]
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Q.4) What is Dumping ? State types of Dumpings. Explain effects of

Dumping on Importing and Exporting Countries. [20]
OR
Q.4) What is Dumping Investigation ? Explain Dumping Investigation
Procedure. [20]
Q.5) Write short notes : (Any Four) [20]

(@ Features of W.T.O.

(b) Difference between GATT and W.T.O.
(c) Role of India in W.T.O.

(d) Asian Currency Crisis

(&) W.T.O. Report on Anti-dumping

()  Multilateral Agreements on Investment
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AASt IR
35 : 3 a] [CFoT T[0T ¢ 100
qAAT
(1) & 997 Ao 37=ard 3778
(2) ISTaiBSter 37® geAa qof O F9ffaara.
(3) TIHMATST HeE ST F9ATIAFT GETEl.

7.1) SMid® MUR FESAT IS M 2 SEde MR Fgeddl 3eed
FE T B [20]

Tehar
9.1) SNTae SR FEedr AUR IGauas Joad AT BEe I F. - [20]

9.2) SINTqe &R FoOeI<al SUaid Maehiad  TeaY gomar IRomHE

=gt . [20]
B
9.2) qeid 99T e HI
(37) AT HElUd Jaaus  IUTEAST [10]
() FHlt TEIATEAAT IR [10]
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9.3) .M. (Uruguay Round) #efi@ fafqer @9 @ @@ 999 W< &, [20]

T
9.3) o wafET f[99E & ST SNTae AR aeAT RIS Shd
T HH FRONYT oA ¢ [20]
9.4) ST U FE 7 ST RN TR, AT T I BT TS
ST BIOTR UROTH W & [20]
TR
7.4) SHT T<YUT WU ™ 7 ST YUl UEdl WS & [20]
7.5) feur foer - (FvEE 9 wR) [20]

(31) SNIas ORI Faca=r dires

(F) T T IAWde AYR FESAT A BF

(F) TNMAPH AR FESATIA ARATHT HTHBT
(F) IREET T@q TAET

(3) FI-SHEMEE SIRMae AR TEeHdT T8

(aV

(%) TaaHiadd TR I
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[4070]-314

M. Com. ( Semester - 111 ) Examination - 2011
CO-OPERATION AND RURAL DEVELOPMENT
SPECIAL PAPER -V
CO-OPERATIVE CREDIT SYSTEM
(Group - F)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) All guestions carry equal marks.

Q.1) Critically examine Structure of Agricultural Credit Co-operatives in India.
OR

Q.1) Explain various types of Credit Requirements of the Agriculturists.

Q.2) Explain need for the Integration of Short Term, Medium Term and Long
Term Agricultural Credit.

OR
Q.2) “Primary Agricultural Credit Co-operative Societies in Maharashtra do not
perform their multipurpose role.” Discuss.
Q.3) Describe organisational structure and functioning of District Central
Co-operative Banks in Maharashtra.
OR

Q.3) Describe functions and problems of Regional Rural Banks in Maharashtra.
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Q.4) Describe advantages and limitations of Salary Earners Co-operative Credit
Societies.

OR

Q.4) Explain functions and problems of Urban Co-operative Credit Societies.

Q.5) Write short notes : (Any Two)
(@ Maharashtra State Co-operative Bank
(b)  Other Non-agricultural Credit Societies
(c) Problems of Non-institutional Credit

(d) Need and Objectives of Regional Rural Banks
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AET HUTER
d% : 3 dw] [T$oT 0T : 100
Q?FIT by
(1) @& g97 ST 3TT9qF 308,
(2) §F AT FHT T IE.
(3) TIAMATST HeE ST F9ATIAFT TETEl.

g.1l) WRAMA WEh OqRaeT SR WHY [THAE  aeror .

E]

.1) JqETAT aAnron=T fAafaey Feilaude e I &

9.2) 3T HASd, WeAH HGd 9 SY ASA HUIGSIAT THAHOME! TRl T .
T
9.2) “TENIGMIA JTAHE FE TAIRGST TEhRI TRAT AT AT Tg3aMT JIHHBT
g ged ATe.” - 9=l &L

7.3) AR [Seal Aeddd Wghil Shidl HEeATH® T T HF faers
BT,

TFar
7.3) THERTSRIA WIRRME T Shrar Brd T Ay {99 &,
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9.4) TRER AHIAT HEhll qauid BEg 30T JqIrer (998 &,
[E]

9.4) AN HERW qaEiEl B T THET T B

7.5) s feur foer o (it i)

(37) HENTE T59 WEh of®

(F) TAR foeordt uq He

(F) TR FAE B AT TR

(3) VIRRIE ITHIOT Sfhidl IS 3T 3R
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[4070]-315

M. Com. ( Semester - 111) Examination - 2011

CO-OPERATION AND RURAL DEVELOPMENT
SPECIAL PAPER - VI
CO-OPERATIVE BANKING SYSTEM
(Group - F)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) What is Priority Sector ? State various types of Loans given to
the Priority Sector. [20]

OR
Q.1) Explain Procedure of Disbursement of Loans to the Priority Sector
Borrowers. [20]

Q.2) What measures are adopted to reduce and recover Overdues ? [20]

OR
Q.2) State and explain objectives of the National Federation of State
Co-operative Banks. [20]
Q.3) Explain functions of Maharashtra State Co-operative Bank. [20]
OR
Q.3) Explain role of RBI in Co-operative Credit System. [20]
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Q.4) Evaluate role of NABARD in the Co-operative Credit System.

OR

Q.4) Discuss problems of Maharashtra State Co-operative Bank.

Q.5) Write notes : (Any Two)

@)
(b)
(c)
(d)

Historical Background of NABARD

Functions of RBI

Causes of Overdues in Co-operative Credit System
Advances under IRDP
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[4070]-315
AAET HATAR
d% : 3 dw] [T$oT 01 : 100
qAT
(1) @& go7 FI=raor 3ifrard 3.
(2) ISTdiBSter 37® geia ot o7 F9Afaara.
(3) TS oz YT FoTUrAeT UgTdl.
9.1) GTETRREE $F WU I 2 YTLTIHH ST et Stom fafaer gt
H HAT, [20]
Tehar
q.1) WTTIshd i FoadTS aradell SO el [aaeum=l JishaT e
. [20]
¥.2) BT FHor HH! HOAWG! T TYA OIS TIS0ITd I0TR 39T HOd ¢ [20]
Tehar
7.2) T HEHR qHe T FUrE IEed HE e H [20]
7.3) HENE ST WEhW oAl B T B [20]
Tehar
7.3) WEH [ e "RaE (g Swdr gEeT e S [20]
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9.4) TEE [T TERd| AaesT S JedAad B [20]

o

7.4) HERTE U9 TN ool T a9l B, [20]

g.5) feur fagr . (Uit i) [20]
(37) S AWIA UTEeas  aedet
() 9RAE NgrE o s

(F) TP [ Tadld Bl THAHET BRO

() TUHMAS FTHIT BT BHBAT Bl
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[4070]-316

M. Com. ( Semester - 1l1l) Examination - 2011
ADVANCED BANKING AND FINANCE
SPECIAL PAPER -V
FOREIGN EXCHANGE
(Group - G)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2)  All questions carry equal marks.

Q.l) What do you understand by a Foreign Exchange Market ? Explain in detail
the features of the Foreign Exchange Market.

OR
Q.l) Explain the following concepts :
(a) Spot Market
(b) Forward Market
(c) Foreign Exchange Futures

(d) Foreign Exchange Options

Q.2) What are the different types of Risks associated with the Foreign Exchange
Transactions ?

OR

Q.2) Explain various tools used by the Corporates to ensure that the Foreign
Exchange Risks are minimised.
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Q.3)

Q.3)

Q.4)

Q.4)

Q.5)

Discuss role of Reserve Bank of India in Foreign Exchange Management.
Do you think that Current Slide of Rupee against Dollar reflects failure
of the RBI ?

OR

Explain in detail any five provisions of the Foreign Exchange Management
Act, 1999.

Compare and contrast different accounts offered by banks to the Non-
resident Indians.

OR

Explain in detail the Concept of Exchange Rate. What are the different
types of Exchange Rates ?

Write notes : (Any Two)

(@) Purchasing Power Parity

(b) Inflation as a Factor Influencing Exchange Rate

(c) Duty Drawback Scheme

(d) Factors Determining Demand and Supply of Foreign Exchange.
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AUSt HAE
9% : 3 Am] [gspUT TroT ;100
qAAT
(1) & g97 FSIor a3z
(2) @F FOAAT FAET JOT IMTEA.
(3) FIHAIEST HeE FUST FeATAET TETAT.

7.1) TS T@T dNR AW T S A gl ¢ W 9dd e

IR W F
fpan

7.1) T HheddT T HI
(37) TR INNR

(F) TS IR

(F) THT T T

(¥) WHT Iaq fawea (Options)

9.2) UHT I IOgRRN S 3dcdr fatgy SiRgEr S Igd ?
T
7.2) TWHT TAaRl e AT SHRTHN BHT FOATHS! ATIANIS 0T
HIOTT T FATUATET 9O HBAT 9
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7.3) T Tad AqRIUEEE ARG (gie S el ==l S, e
SfATAT A SIATHT TIRUT ARAT RIS d 3qIeT ST 3/ JearaT
qed FE 9

fpan

9.3) U IA HARAYA HRET, 98T HUEEN T el e B,

9.4) ATl HRAEET b7 Boar fOiaer &6 T U fod adid il

AT T I B T B
(B0
7.4) fafmg 3T & Secar Sy @ & [ s ot ger @
.

¥.5) feur fergr : (ot 1)

(31) FIIFRT FHTAT

(W) I H T AT 999 T[RUTRT USE A pildcl

(F) Yed TaEar JrsAr (Duty Drawback Scheme)

(3) U Tl AWEH T GRS SAAUIR HTH
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[4070]-317

M. Com. (Semester - 111) Examination - 2011
ADVANCED BANKING AND FINANCE
SPECIAL PAPER - VI
INTERNATIONAL FINANCE
(Group - G)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.

(2) Figures to the right indicate full marks.

Q.1) What are the reasons for Growth of International Banking ? Explain

any two types of International Banking Offices. [20]
OR
Q.1) What is International Money Market ? What are the instruments of
International Money Market ? [20]
Q.2) Explain the following : [20]

(@ Types of Bonds in International Debt Market
(b)  Current Account Convertibility and Capital Account Convertibility
OR
Q.2) (A) What is Gold Standard ? [10]
(B) What are the features of Bretton Woods System ? [10]
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Q.3) (A) Explain Floating Exchange Rate System. [10]
(B) What is International Equity Market ? [10]
OR

Q.3) (A) Explain origin and operations of Bank for International Settlements
(BIS). [10]

(B) What are the functions of International Finance Corporation (IFC). [10]

Q.4) What are the objectives and operations of International Monetary

Fund (IMF) ? [20]
OR
Q.4) Explain origin and functions of International Bank for Reconstruction
and Development. [20]
Q.5) Write notes : (Any Two) [20]

(@ Euro-dollar Market

(b) International Banking

(c) International Development Agency (IDA)
(d) Global Depository Receipts
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AAET HATAR
9% : 3 a] [TspoT T[OT : 100
Q?FIT by
(1) @& g7 FSIoT 3TT9qF 308,
(2) ISTdiBSter 37® geAia ot O FIAfaar.
(3) TIWIIST oz TSI FoTUrAdr UgTdl.

9.1) STARGET SHTeT JEIar HROT HIOTT ¢ ARG BT HAT

HIUTdEr T YRR faeg & [20]
Tehar

7.1) STMAWST ATERR BUST B ¢ AR ATl 9re qim. [20]

7.2) A T FHA [20]

(37) SMAWET HAASAT BT JBR

o [ o (o)

(F) = TAERA TREAAFAr T Aigaa! STt aRaa= bl

Tehar
9.2) (31) AT IRATT TS HE 9 [10]
(F) sed TSH Tsardr dRree | [10]
7.3) (31) wEadr AFFY S dmdl W & [10]
() INARET TAAN TR ST B 9 [10]
Tehar
7.3) (31) ok BR ITSEHIAA ASTHSA! TAT IMUT HE T F. [10]
(F) TG [IIEsT AgHgHar I H. [10]
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9.4) IMAWET AMOHEEr 3tese 3T ™ Jhm. [20]
Tehar
9.4) JAWET TATT T fobm dedr At nfr " W 4. [20]

g.5) feur ferar : (ForETE g9) [20]

(31 TU-S@ TER

() ITaRST S

(F) THIA SEATHS TS (IDA)

(3) WEa feditsed Riwed (GDRs)
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[4070]-318
M. Com. ( Semester - 111) Examination - 2011
ADVANCED MARKETING
SPECIAL PAPER -V
INTERNATIONAL MAREKTING
(Group - H)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) All questions carry equal marks.

Q.1) What is International Marketing ? Describe its scope and objectives in the
context of Globalization.

OR

Q.1) Write a detailed explanatory note on ‘Import-Export Policies’.

Q.2) Describe various Rules for Successful Exporting.
OR

Q.2) What is International Pricing ? State factors influencing Pricing Decision.

Q.3) (A) Write a note on ‘GATT’.
(B) State functions of ‘World Trade Organisation’.
OR
Q.3) (A) State procedure of obtaining Export Credit Insurance.
(B) Describe Exchange Facilities provided by R.B.I. and EXIM Bank.
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Q.4) Describe challanges and opportunities in International Marketing.
OR

Q.4) Explain various documents used for Export.

Q.5) Write notes : (Any Four)
(@ Labelling
(b) Packing
(c) Export License
(d) International Market Segment
() Marine Insurance

()  Export Business
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AASt IR
35 : 3 aW] [TFUT T[0T ;100
qAAT
(1) aF g97 QIS0 MT9TF 378,
(2) & FOAAT AT TOT MTEd.

7.1) STARST TqUurd BTl B 7 SANAHIBOTEAT qeaeHey. @t @t d
Ry foeE &

fpa
q.1) -t @i greY  iaY T ihOAS ofg {oTal.

9.2) I FaidEe oty a9 &1L
T

9.2) MaWSE [FAq =orst w0 2 Thad oy g9ia e g 9.,

7.3) (37) e’ grax 39 forer

(F) ‘IAGH YR FEe'=r HI T
EEL
7.3) (31 T g famr MHesaoart @t @i
() IRELAE. T TR dbbga fgear sor=n fafwa glaer faue &
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T.4) IMAWET [UoETdidl MTEM 37T e I auiT .
Tehar
7.4) frafdeet e Stomr fafay seeesre (SudsT) TeIT 9T,

9.5) feur foter . (U@l 9 W)

(31) FoTragr (Labelling)
(T) HISIBOT /  FrEon
(F) Tafd wam

(3) IMAWET TCRIS FHRTHIT
(3) 9nrdt faem
(%) fa e
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[4070]-319

M. Com. ( Semester - 111 ) Examination - 2011
ADVANCED MARKETING
SPECIAL PAPER - VI
MARKETING RESEARCH
(Group - H)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) All questions carry equal marks.

Q.1) What do you mean by Marketing Research ? Explain scope and limitations
of Marketing Research.

OR

Q.1) Describe Prominent Market Research Agencies in India.

Q.2) Define Marketing Intelligence. Explain scope and advantages of Marketing
Intelligence.

OR
Q.2) Explain Sales Analysis Concept by-territory, by-product, by-customer and
by size-order.
Q.3) What do you know about Research Proposal ? What points are to be
considered while preparing Research Proposal ? Explain.
OR

Q.3) Enumerate in detail Marketing Research Process.
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Q.4) Define Market Information. Explain various Sources of Market Information.
OR
Q.4) Write notes :
(@ Advantages of Internet in Data Collection
(b) Shop and Retail Audit

Q.5) Write short notes : (Any Four)
(@ Discriminate Analysis
(b)  Multi-dimensional Scaling
(c) Market Analysis
(d) Industrial Marketing Research
(e) Sales Analysis
() Cluster Analysis
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(1) @& g7 FSAoT 3TT9qF 308,
(2) @T GIAAT FHT T ITE.
(3) TS ez TSI FoTUrAeT UgTdl.

9.1) fauor deted o B ¢ faaure SeneETEr STt T 7AiET W 4.
e

7.1) ARAE IORYS HMUH O T/ UE G IT [eE #L

9.2) faqum =rqarEr e @em. fquee anqardt vt ST BEE I .
B
g.2) fapt faedwor & Wa Wia(AaE)TERN, SHEATER,  TTESER 37T
STHNIHNT W B

9.3) MU FIATEaSAT 90T B 0T ? HIM FI g q9™ BT BIoTd
e [TOR@ =4 @A o T B

o
9.3) fauor dentew gfspam afaeaw faee &
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9.4) ISRUS Hiledal AT 90T, SSTRYS Jiiedl THoaaoars fafaqy #nT I
pA.

(1
9.4) fea forar -
(37) WIEdT TUBUTHES IoHSd BHES
() AT T TRwles TedtaauTaoT

9.5) Jef@ feur faer (SR =9n)
(37) TIHME IO (WITHE  [I9eyoT)
(1) wgfay foammdse= gAToT
(F) TS TasersoT
(3) M foawor Heres
(%) Tawr Tasawor
(%) wHE fasawor
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[4070]-401

M. Com. ( Semester - 1V) (Compulsory) Examination - 2011
CAPITAL MARKET AND FINANCIAL SERVICES
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) All questions carry equal marks.

Q.1) What is Capital Market ? Describe in detail the Participants of Capital Market.
OR
Q.1) (A) Explain Structure of Capital Market.

(B) Write a detail note on Futures Contract.

Q.2) What is the meaning of Primary Market ? Explain in detail Functions of
Primary Market.

OR

Q.2) What do you mean by Secondary Market ? Explain objectives and functions
of Secondary Market.

Q.3) What is Securities and Exchange Board of India (SEBI) ? Explain in detail
the Powers and Functions of SEBI.

OR
Q.3) What is a Mutual Fund ? Explain in detail various types of Mutual Funds.
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Q.4) What is Foreign Direct Investment (FDI) ? Explain need for Foreign Direct
Investment (FDI) in India.

OR
Q.4) Write detailed notes :
(@ Portfolio Management

(b) External Commercial Borrowings

Q.5) Write short notes : (Any Four)
(@ Types of Preference Shares
(b) National Stock Exchange
(c) Advantages of Listing of Securities
(d)  Services of Merchant Banking
(e) Credit Rating
() Background of SEBI
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[4070]-402

M. Com. ( Semester - 1V) (Compulsory) Examination - 2011
GLOBAL INDUSTRIAL ENVIRONMENT
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100
Instructions :

(1) All questions are compulsory.

(2) All questions carry equal marks.

(3) Answers should be precise and to the point.

Q.1) Explain in detail the Sources of Industrial Finance.
OR
Q.1) State and explain Industrial Policy, 1991.

Q.2) Write short notes : (Any Two)
(@ Effects of Globalization
(b)  Floriculture
(c) Role of Foreign Capital
(d) Contract Labour

Q.3) State and explain Progress and Problems of Iron and Steel Industry in India.
OR

Q.3) What is a Multinational Corporation ? Explain advantages and disadvantages
of Multinational Corporations.
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Q.4) What is Industrial Labour ? Explain features and problems of Industrial
Labour.

OR

Q.4) State meaning of Liberalization. Explain background and effects of
Liberalization.

Q.5) Write short notes : (Any Two)
(@ Export-Import Policy Since 1991
(b) Methods of Privatization
(c) Information Technology Industry in India
(d) Foreign Capital Policy Since 1991
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[4070]-403

M. Com. ( Semester - IV ) (Compulsory) Examination - 2011
OPERATIOINS RESEARCH
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.
(3) Use of statistical tables and calculator is allowed.
(4) Symbols have their usual meanings.

Q.1) Attempt any four of the following : \ [20]
(a) Write notes :
(1) Laplace Criterion
(1) Minimax Criterion

(b) Explain how will you obtain optimal solution to minimize
transportation problem using U-V Method ?

(c) Solve the following game using dominance rule :

Player B
1 3 0
Player A 0 -4 -3
1 5 -1

(d) Use Simplex Method to solve the following L.P.P. :
Maximize Z = 7X + 5Y
Subject to the constraints :
X+2Y <6
4X + 3Y < 12
X,Y>0
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(©)

Explain Canonical Form and Standard Form of L.P.P.

(f)  Obtain initial basic feasible solution using North - West Corner

Method for the following Transportation Problem :

Markets— D1 D2 D 3 D 4
Sources 4

Supply

30

L 2] | ) |4
El

2] 9

50

O 20 40 301 |10

20

Demand 20 40 | 30 10

100

Also find Corresponding Transportation Problem.

Q.2) Attempt any four of the following :

(@)

(b)

(c)

Explain the following with reference to L.P.P. :
(i) Entering Variable

(i) Leaving Variable

(i) Surplus Variable

Discuss Simplex Method when we obtain :

(1) Multiple Optimal Solution

(i) Unbounded Solution

Obtain Dual Problem of the following L.P.P. :
Maximize Z = 2X, + 35X, + 6X,

Subject to the constraints :

5X, + 6X, - X, < 3

22X, + X, +4X, < 4

[4070]-403

X, - 5X, + 3X, < 1
3X, - 3X, + 7X, £ 6
X, X, X, > 0

[20]

Contd.



(d) Suppose we have Decision-making Problem represented by the
following table :

Conditional Profits

States of Nature |Probability Alternatives
(A)) Produce((A,) Produce
25 units 75 units
High Demand (S)) 0.6 4000 10000
Low Demand (S,) 0.4 2000 -5000

Draw an appropriate decision tree for the above problem.
(e) Write notes :
(1) Hurwicz Criterion
- (1) Maximax Criterion

(f) Obtian initial basic feasible solution using Least Cost Method for
the following Transportation Problem (T.P.) :

Markets— D, D, D, D, Supply
Sources |
O1 30 25 40 20 100
O2 29 26 35 40 250
O3 31 33 37 30 150
Demand 90 160 200 50 500

Also find Corresponding Transportation Problem.

Q.3) Attempt any four of the following : [20]

(a) Define Strategy and also explain what do you mean by Pure
‘Strategy and Mixed Strategy.
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(b) Consider the following game

Player B

-2 2

Player A -13
1 2

Obtain Saddle Point. Also state optimal strategy for Player A
and Player B.

(¢) Using Big M Method solve the following L.P.P. :
Minimize Z = 2X, + X,
Subject to the constraints :
4X, + X, = 4
4X, + 3X, > 6
X, +2X, <3
X, X, >0

(d) Obtain initial basic feasible solution using Vogel’s Approximation
Method for the following Transportation Problem :

Markets— D, D, D, D, Supply
Sources 4 |
0, 21 16 25 13 11
0, 17 18 14 23 13
0, 32 27 18 41 19
Demand 6 10 12 15 43

Also find Corresponding Transportation Problem.
(¢) Explain Minimum Cost Capacitated Network.
() (@ What do you mean by Unbalanced Transportation Problem ?

(i) How will you convert Maximization T.P. to Minimization
TP. ?
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Q.4) Attempt any two of the following : [20]

(@) From the following pay off table (of profit) determine optimal
strategy using Maximax, Laplace, Hurwicz and Minimax Regret

Criterion :
States — A, A, A, A,
Strategies |
S, 4 4 4 4
S, -2 8 8 8
S, -8 2 12 12
S, -14 —4 6 16
(Take o = 0.6)
(b) Discuss Shortest Route Algorithm used in Network Analysis with
suitable illustration.

(c) Test whether the solution given in the following transportation
matrix is optimal or not ? Find alternate optimal solution if exists.
Also find Corresponding Transportation Cost :

D, D, D, D,
0, 1 2 1 4
|
o, |3 3 2 1
0, 4 2 5 9
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Q.5) Attempt any two of the following : [20]

(@) Describe Transportation Problem as a particular case of Linear
Programming Problem.

(b) Solve the following Transportation Problem :

‘| Destinations— [ D, D, D, D, [Supply
Sources | ,
S, 10 20 5 7 10
S, 13 9 12 8 20
S, 4 15 7 9 30
S, 14 7 1 0 40
S, 3 12 5 19 50
Demand 60 60 20 10 150

(c) (@ Explain the terms :

(1) node
(2) arc

(3) network
4) flow

(5) activity

() Describe Maximum Flow Network Model with suitable
example. Define Cut and Capacity of Cut in this model.
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[4070]-404

M. Com. ( Semester - 1V) Examination - 2011
ADVANCED ACCOUNTING AND TAXATION
SPECIAL PAPER - VII

RECENT ADVANCES IN ACCOUNTING, TAXATION AND AUDITING
Time : 3 Hours] [Max. Marks : 100
Instructions :

(1) Attempt all questions.

(2) All guestions carry equal marks.

(3) Figures to the right indicate full marks.

Q.1) What is meant by IFRS ? Explain IFRS-2 to IFRS-8 in brief. [20]

Q.2) What do you mean by Responsibility Accounting ? From the following

data calculate ROl (Return On Investment) and RI (Residual

Income) : [20]

Items Enterprise | Division X | Division Y | Divisions Z
As a whole (Rs.) (Rs.) (Rs.)

(Rs.)
Investments 20,85,000 4,00,000 6,25,000 8,50,000
Operating Profit| 2,10,000 40,000 90,000 1,60,000
OR

Q.2) Explain main provisions of New Tax Code - 2009 with regard to

Salary Earners. [20]
Q.3) What do you mean by ‘Transfer Pricing’ ? Explain any four methods

of Transfer Pricing. [20]
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Q.4) “Creative Accounting - A Fraudulent Practice Leading to Corporate
Collapses.” Discuss. [20]

OR

Q.4) What is meant by Corporate Governance ? Do you think Indian
Corporate Governance is Equitable ? What steps do you suggest for
revising Standard of Corporate Governance ? [20]

Q.5) Write short notes : (Any Four) [20]
(@ ESO (Employees Stock Option) Accounting
(b) Accounting for BPO (Business Process Outsourcing)
(c) Forensic Accounting
(d) Carbon Trading Account
(e) Financial Statement Disclosures - Recent Trends
() Intellectual Property Rights Accounting

(g) Strategic Management Accounting
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[4070]-405

M. Com. ( Semester - 1V) Examination - 2011
ADVANCED ACCOUNTING AND TAXATION
SPECIAL PAPER - VIII
CASE STUDIES IN ACCOUNTING
(Group - A)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :

(1) Attempt Q. No. 1 which is compulsory and any three
of the remaining.

(2) All questions carry equal marks.
(3) Figures to the right indicate full marks.
(4) Use of non-programmable calculator is allowed.

Q.I) Comment on the following cases, referring necessary sections of
relevant law, case laws and any other supporting evidence and
calculations, if any, [25]

(@ Ms. Rupali has earned net agricultural income from land in
Srilanka Rs. 10,00,000. She states that the income from the
agricultural land is exempt U/S 10(1). Explain whether it is taxable
or not.

(b) Arvind Ltd, a resident company having a branch in USA, earned
profits outside India. When the profits were subsequently remitted
into India, it incurred loss due to exchange fluctuations, which
was claimed as a trading loss. Give your advise.

(c) X, an individual, has got his books of accounts for the year
ending 31-3-2010 audited U/S 44 AB. His total income for the
A.Y. is 1,90,000. He desires to know if he can furnish his return
of income for the A.Y. 2010-11 through a tax return preparer.
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Q.2) Discuss the following cases : [25]

(@ M/s. Delhi Stationers imported 1000 pcs. of camera @ 6,000
Yen each from Japan. They paid custom duty @15% and
transport charges Rs.14,500. However, the Japanese Exporter
gave them a 5% rebate. Take 1000 Yen = Rs. 240. Find out
purchase price per piece of camera.

(b) From the following information relating to a company, calculate

value of its equity shares :
Issued Share Capital - 10,000 Shares of Rs. 10 each; Paid up
Capital - Rs. 8 per Share. 6% Preference Share Capital - 1,00,000
Shares of Rs. 10 each fully paid. Annual Transfers to General
Reserve - 20%. Normal Rate of Return - 20%.

(c) In the course of search U/S 132 a tax payer makes declarations
U/S 132(4) on the earnings of income not disclosed. Can
that declaration save tax payer from the levy of penalty
u/s 271(1) (c) ?

Q.3) Comment on the following cases, referring necessary sections of
Income Tax Act, 1961 and case laws, if any : [25]
(@ P as an individual borrowed Rs. 20,00,000 for repair and

reconstruction of his self-occupied house property and paid
interest of Rs. 1,60,000 thereon. What is the amount of interest
allowable as deduction U/S 24 for the A.Y. 2010-11 ?

(b) Can the commission refuse to exercise revisionary jurisdiction on
the ground that the assessee repeatedly admitted concealment of
income ?

(c) An Institution has been established wholly for charitable and
religious purposes within the meaning of section 11 and 12 of
the L.T. Act. Donations made to such an institution do not
automatically qualify for deduction U/S 80G. Discuss.

Q.4) The Directors of Quality Machineries Ltd., request you to ascertain
amount at which the inventory should be included in the financial
statements for the year 2008-2009. The value of the inventory as shown
in the books is Rs. 12,50,000.
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To determine net realizable value of the inventory (on a test check
basis), you had selected several items whose book value was
Rs. 3,50,000. You ascertain that except the items (a) to
(b), mentioned below, the cost was in excess of the realizable value
by Rs. 29,532.

The following items required special treatment :

(@ One machine (Cost Rs. 1,30,000) can now fetch Rs. 1,15,000.
It was priced at Rs. 70,000 and was written down the same figure
at the end of 2008-09.

(b) A pump (Cost Rs. 50,000) was expected to realize Rs. 35,000.
A special commission of 15% would have to be paid to the
broker.

(c) 6 units of product no. 15710 were in stock valued each at
Rs. 5,520; the selling price was Rs. 4,500 per unit; the selling
expenses are 10% of the selling price.

Taking into consideration only the above mentioned items requiring
special treatment, compute value of the inventory as on 31st March, 2009

you would consider reasonable. [25]
Q.5) The Balance Sheet as on 31st March, 2010 showed the following
position :
Liabilities Rs. | Assets Rs.
Share Capital : Debtors 5,00,000
20,000 Equity Shares
of Rs.100 each 20,00,000 | Stock in Hand 15,00,000
General Reserve 6,00,000 | Plant 10,00,000
Profit and Loss
Account 3,50,000 | Factory Premises| 11,50,000
Current Liabilities :
Bank Overdraft 3,00,000
Creditors 4,00,000
Provision for Taxation 5,00,000
41,50,000 41,50,000
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Additional Information:

(1) Net Profits of the company for the last five years before providing
for taxation were as follows : Rs. 4,10,000; Rs. 6,40,000;
Rs. 7,00,000; Rs. 8,50,000; Rs. 9,00,000.

(2) Managerial Remuneration of Rs. 60,000 has been charged for
each year.

(3) The market value of the assets were as follows :
Stock - Rs. 15,50,000; Plant - Rs. 10,40,000; Factory Premises -
Rs. 12,83,000.

(4) Taxation may be considered at 50%.
(5) Goodwill should be valued at 5 years purchase of super profits.
(6) Normal Rate of Return - 10% p.a.

On the basis of the above information, find out Intrinsic Value
of Shares. Indicate Assumptions, if any, clearly. [25]
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[4070]-406

M. Com. ( Semester - 1V) Examination - 2011
ADVANCED COST ACCOUNTING AND COST SYSTEMS
SPECIAL PAPER - VII
RECENT ADVANCES IN COST ACCOUNTING AND COST SYSTEMS
(2008 Pattern)

Time : 3 Hours] [Max. Marks : 100

Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.) (A) Define the following terms in one sentence only as per ‘CAS’ : [10]
(1)  Abnormal Cost
(2 Scrap
(3) Production Overheads
4) Indirect Materials
(5)  Standard Cost
(6)  Abnormal Idle Time
(7)  Reworks
(8)  Utilities
9) Finance Cost
(10)  Selling Overheads

(B) Write short notes on the following as per ‘CAS’ : (Any Two) [10]

@ Classification of Cost
(b)  Cost of Utilities
(c) Packing Material Cost
(d)  Objective and Scope of Employee Cost as per CAS
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Q.2) (A) Explain Procedure of VAT Audit. [10]

(B) Explain features of ERP. [10]
Q.3) What is Productivity Audit ? What are the problems in Productivity

Audit ? What means are used to overcome such problems ? [20]
Q.4) What is Six Sigma ? Explain Utility of Six Sigma. [20]
Q.5) (A) Explain Five ‘S’ System of Quality Management. [10]

(B) Comment on the Article published in the journal ‘The Management
Accountant’ (September, 2011) on ‘Application of Activity Based
Costing for Health Care Industries’, by P. Saravanan and N.

Sivasankaran. [10]
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[4070]-407

M. Com. ( Semester - 1V) Examination - 2011
ADVANCED COST ACCOUNTING AND COST SYSTEMS

PAPER - VIII
CASE STUDIES IN ADVANCED COST ACCOUNTING AND COST SYSTEM
(Group - B)
(2008 Pattern)
3 Hours] [Max. Marks : 100

Time :

Instructions :

(1) Attempt any four questions.
(2) All questions carry equal marks.
(3) Use of non-programmable calculator is allowed.

Q.1)

Q.2)

IFRS Ltd. manufactures 20,000 units of ‘X’ in a year at its normal
production capacity. Due to depression, it is expected that only 2,000
units of ‘X’ can be sold during the next year. The unit cost as to
variable cost and fixed cost at 20,000 units level are Rs. 13 and Rs.
4 respectively.

The Management plans to shut-down plant. The fixed cost for the
next year then is expected to be reduced to Rs. 33,000. Additional
Costs of Plant Shut-down are expected at Rs. 12,000. Do you think
that the plant be shut-down ? And if yes, give shut-down point

to the management. [25]

The Efficient Co. Ltd. is confused whether to buy or make product
B to save cost, considering the following information supplied by the
company. Help Company in reaching appropriate decision.

Product A takes 5 hours to produce on a particular machine and it
has a Selling Price of Rs. 50 and a Marginal Cost of Rs. 35.

On the same machine, the product B can be made in 2 hours at a
Marginal Cost of Rs. 5 per unit. Supplier’s Price of product B is
Rs. 10 per unit. Assume, Machine Hour is the key factor. [25]
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Q.3) Export Ltd. will produce 3,00,000 kgs of R and 6,00,000 kgs of T
from an input of 9,00,000 kgs of Raw Material W.

The Selling Price of R is Rs. 8 per kg and that of T is Rs. 6 per

kg.
Processing Cost amounts to Rs. 54 lacs per month as under :
Rs.
Raw Material W 9,00,000 kgs at Rs. 3 per kg 27,00,000
Variable Process Cost 18,00,000
Fixed Processing Cost 9,00,000
©54,00,000

Company has just received an enquiry to purchase 60,000 kgs of T
additionally at a price of Rs. 4 per kg. The company is of the opinion
that if the order is accepted, the existing market for T will not be
affected. But the price of R is likely to be decreased uniformly on
all sales.

The company asks you to find out minimum reduced average price
for R to sustain increased sales. [25]

Q.4) Tejswini Enterprises manufactures and sells Black Phenyl worth
Rs. 20,000, White Phenyl worth Rs. 25,000, Scented Phenyl worth
Rs.10,000 and Naphthalene Balls worth Rs. 5,000 every month. The
firms total fixed costs per month are Rs. 14,700. The variable costs
are — on Black Phenyl 60%, on White Phenyl 68%, on Scented Phenyl
80% and on Naphthalene Balls 40%.

Ms. Tejswini, being basically a science graduate, wonders at what
combined sales volume does she really start earning profit. Help her
in arriving at such a Sales Volume. [25]
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Q.5) AXN Ltd. has an inventory of 5,000 units of a product left over from
last years’ production. This product is no longer in demand. It is
possible to sell this at reduced price through the normal distribution
channels. The other alternative is to ask someone to take them on ‘as
iIs where is’ basis. The latter alternative will cost the company
Rs. 5,000.

The company produced 2,40,000 units of the product last year, when
the unit costs were as under :

Rs.

Manufacturing Cost : Variable 6.00
Fixed 1.00

Selling and Distribution Cost : Variable 3.00
Fixed 1.50

Total Cost 11.50

Selling Price per unit : 14.00

The company solicits your opinion for whether to scrap the items or
sell them at a reduced price. If sell is suggested, what minimum price
would you recommend ? [25]
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[4070]-408

M. Com. ( Semester - 1V) Examination - 2011
BUSINESS PRACTICES AND ENVIRONMENT
SPECIAL PAPER - VII
RECENT ADVANCES IN BUSIENSS PARCTICES AND ENVRIONMENT
(Group - C)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) All guestions carry equal marks.

Q.1) Critically evaluate vision, objectives and thrust areas as mentioned in the
Textile Policy of Maharashtra Government.

OR

Q.1) Explain draft contents of Agro Industrial Policy, 2010 of Maharashtra
Government. (This policy is parallel to Agro Processing Policy, 2006)

Q.2) State objectives, background and eligibility criteria under Rajeev Gandhi
Udyami Mitra Scheme.

OR

Q.2) Write an exhaustive note on Labour Market Information Cell (LMIC) and
Service Training Institute as means of HR Initiatives.

Q.3) A group of women from nearby slums has approached with a proposal
to form a Self Help Group. They want your help in formation of Self Help
Group. Write in detail the modus operandi of formation of SHG from
‘Concept to Commissioning’.

OR
Q.3) Explain Concept of Self Help Group. Trace evolution of Self Help Group.
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Q.4) “Statutory provisions relating to Environmental Audit have been proved to
be mere compliance.” Do you support this statement ? In view of this,
explain rationale behind ‘Environmental Audit’. You may quote examples
from the corporate world.

OR

Q.4) Explain the term ‘Environmental Audit’. State benefits and limitations of
Environmental Audit.

Q.5) Write short notes : (Any Two)
(@ Retail Policy
(b)  Urban Haat
(c) Nature and Scope of BPL

(d)  Corporate Disclosure
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M. Com. ( Semester - 1V) Examination - 2011
BUSINESS PRACTICES AND ENVIRONMENT
SPECIAL PAPER - VIII
CASE STUDIES IN BUSINESS PRACTICES AND ENVIRONMENT
(Group - C)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

PART - |
Q.1) “Case Studies play vital role in Managerial Decision.” Explain this
statement in detail. [15]
OR
Q.1) Which are the Approaches to Case Study Method ? [15]

Q.2) “In Managerial Decisions there are various tools for Decision-making.”
However they suffer some limitations. Which are the limitations of Case

Study Method ? [10]
OR
Q.2) Define Case Study Method and also state its features with examples. [10]
PART - Il

Q.3) Subir Chakroborty is just back from attending Indian Internet World,
2011 Seminar. His worst fears seem to have been confirmed by what
he heard from the speakers there. He called in his deputy Mihir Dey,
who also looked after new projects.
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Dey was follower of the developments in the new economy and
provided support to Project ldeas related to it. There was a debate
going on whether their company Triton Ltd. should continue with
dotcom project or not ?

Subir, steeped in the working of the old economy businesses, often
felt uncomfortable with the idea that Triton Ltd. could diversify in an
unrelated business even though it had solid financial back up.

When Dey arrived, Subir asked him to sit down and listen to him
patiently. He narrated to Dey what he had heard at the seminar, from
his note pad he read out the perceived obstacles in the spread and
usage of the Internet in India.

Questions

(@ If you were Mihir Dey, how would you respond to Subir’s
opinion ?

(b) What should be the expansion policy of the business ?

(c) What can be possible obstacles in the Internet Business ? How
those can be resolved ?

(d) How the company can develop strategy for Business Plan ?  [25]

Q.4) National Carpets (NC) makes three catagories of product : Artificial
Fibre Carpet, Wood Carpet and Carpet Backing. They produce one
type of backing and many types of other two products. The types
differ with regard to colours and patterns. Many of the batches
produced were unusually large when plenty of finished goods have to
be maintained awaiting sales. Production Supervisor argued that it was
a plain economics. The Production Control Manager, Mr. Srinivas, has
been charged with investigating the production scheduling for NC.
Recently, they have difficulty in meeting delivery dates, since the factory
has been operating at 100% capacity. Srinivas believes that too much
time has been lost in changing over from one product to another.

Analyse this case and answer the following questions :

(@ What measures do you suggest to reduce set up time which is
a problem ?
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(b) Recommand production flow to meet customer delivery commitment.

(¢ Comment on the production and business system efficiency. [25]

Q.5) Bharat Manufacturing is a medium size maufacturing firm making arc
welding equipment, electric motors and generators. The plant design
Is a typical assembly line layout. Each worker is assigned to a work
station along the assembly line and performs a specific task on the
item at his station. The tasks are exteremely repetitive.

The Manufacuring facility itself is too large, noisy and poorly ventilated.
There is a little interaction among the employees or supervisors during
the day. The style of management is authoritarian. There is no
employee’s representation in Management. Product quality is a problem.
Returns from distributor and complaint from customers are very high.
The productivity of the workers is below industry standards. Absenteeism
is high and labour turnover is also high. The plant was recently
purchased by an established group as the owner felt it as a good
decision to sell it out.

Analyse this case and suggest various measures to be undertaken to
establish better business practice and to achieve objectives. [25]
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M. Com. ( Semester - 1V) Examination - 2011
BUSINESS ADMINISTRATION
SPECIAL PAPER - VII
RECENT ADVANCES IN BUSINESS ADMINISTRATION
(Group - D)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) All guestions carry equal marks.

Q.1) “Enforcing Coercion is the essence of successful implementation of
Change.” Do you agree with the statement ? Discuss.

OR

Q.1) “Several Economic, Social and Psychological Factors contribute to resistance
to Change.” Discuss.

Q.2) Explain Concept ‘Total Quality Management’. Describe major ingredients
in TOM.

OR

Q.2) Explain Concept Kaizen. Discuss Key Kaizen Practices.

Q.3) Explain different ways in which a Business Grows. What are the
advantages of Business Acquisition ?

OR

Q.3) Explain the term ‘Cross-cultural Management’. What are its advantages ?
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Q.4) “Business Sickness does not occure overnight but developes gradually over
time.” Discuss symptoms of Business Sickness in the light of above
statement.

OR

Q.4) What is Turn-around Management ? Describe process of Turn-around
Management.

Q.5) Write notes : (Any Two)
(@ Tools of ERP
(b) Six Sigma
(c) Types ad Morgers
(d) Computer and ERP
(e) Change Agent
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M. Com. ( Semester - 1V) Examination - 2011

BUSINESS ADMINISTRATION
SPECIAL PAPER - VIII
CASE STUDIES IN BUSINESS ADMINISTRATION
(Group - D)
(2008 Pattern)
3 Hours] [Max. Marks : 100

Instructions :

(1) Attempt all the questions.
(2) Each question carries 25 marks.

Q.1)

Q.1)

Q.2)

Evaluate strengths and weaknesses of Case Study Approach as a means
to resolve various issues in the Management of a Company.

OR

Explain in detail with suitable practical examples various routine as well as
strategic decisions taken by the Board of Directors of any corporate form
of organization. Make logical assumptions in support of your answer.

X Ltd. is engaged in export of flowers to European Countries. It has its
estates in the surroundings of Lonavla, in Pune District. Its average annual
turnover is in the range of 10-12 crores during last three years. It has been
observed during last quarter of the year that its export income has been
showing a reducing trend. Market has become volatile and margin on sales
is declining. You have been appointed as the Management Consultant to
evaluate this problem and report to the Management about your recom-
mendations to boost sales for the year 2011-12. Your report must analyze
existing problem and remedial measures to overcome it through the marketing
strategy. You may assume any logical data for designing the report.

OR
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Q.2)

Q.3)

Q.3)

Q.4)

You run a management consultancy organization. A client has approached
you to prepare a Project Report to be submitted to avail of finance from
the bank. Imagine any business and prepare Project Report to be submitted
to the bank.

You have been working as Manager (Production) in an automobile
manufacturing company. Your company manufactures two wheeler bikes.
The market of your brand is flourishing and there is an increasing demand
for your vehicles. In view of this, the top management of your company
has laid down a schedule of daily production of final products to be okayed
by your department, failing which it is afraid that you will not be able to
meet the demand, which in turn will be affecting your market share.

As a Manager (Production) write an exhaustive note to be submitted to
“The Vice President (Manufacturing)’. Your note should include possible
bottlenecks in your endeavor to meet daily target and the measures to remove
such bottlenecks.

For the purpose of this note any logical assumptions by you are expected.
OR

You have been working as Vice President (Operations) in a company engaged
in the steel business on a massive scale. Your plants are in various countries
around the world. Your management has set a mission to acquire small steel
plants, which were run almost as sick units by other companies. Which
considerations, according to you are to be strategically weighed before
arriving at a decision to acquire a steel plant, being run as a sick unit by
other organization ?

You may quote contemporary examples in support of your answer.

You must have observed many advertisements in the Newspapers about
selling ‘SECOND HOME’ at any serene place. Imagine that you are the
owner of any such construction company which is interested to develop
SECOND HOMES. Enlist and explain all the steps required to be executed
from ‘CONCEPT TO COMPLETION’.

Your answer must be exhaustive and should be capable of being used as
a guideline to any such developer.

OR
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Q.4) COMFORT SERVICES is a travel company. They have a fleet of luxury
buses with varying capacities. They are in this business since last 10 years.
Their annual turnover in 2010-11 was Rs. 5.6 crs. It is observed that in
the year 2010-11 the market share is reduced by 20%. The buses were
flying with under utilized occupancy.

COMFORT SERVICES have appointed you as a Business Analyst. Your
task includes study of existing business, study the impact on the business
due to competitions and suggest a concrete plan of action to achieve a
target of Rs. 7 crs, fixed for the year 2011-12.
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M. Com. ( Semester - 1V) Examination - 2011
COMMERICAL LAWS AND PRACTICES
SPECIAL PAPER - VIII
CASE STUDIES IN COMMERCIAL LAWS AND PRACTICES
(Group - E)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) Attempt any four cases.
(2) All questions carry equal marks.

Q.l) Dabour Oil Mills Company Limited (DOMCO) and Pune Lever Limited
(P.L.L.), which is a subsidiary of Uni-lever (U.L.) — a multinational
company - are the manufacturers of soaps, detergents, etc. DOMCO
was incurring losses from 1990-91 and as such was graded as a sick
company. The Board of Directors of DOMCO decided to amalgamate
their company with P.L.L. which was a more prosperous company
in the same field of activities.

The proposal of DOMCO was accepted by P.L.L. The scheme of
amalgamation was accepted by the Board of Directors of both the
companies, a large majority of shareholders, debentureholders and
others. However, two of the shareholders of DOMCO, holding a
nominal percentage of shares and two workers' unions opposed the
scheme of amalgamation. The grounds of opposition were - statutory
violations, procedural irregularities of the Companies Act, MRTP Act,
undervaluation of shares which was against the public interest.

The matter was referred to the Supreme Court. You are required to

discuss the following issues giving your opinions, with reasons, about

the issues raised.

(@ Since more than 51% of the shares of P.L.L. were being given
to a foreign company, it is deemed to be against the public interest.

(b) Is the scheme of amalgamation violating the MRTP Act, as prior
approval of the Government was not taken for amalgamation ?
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(c) Can the transfer of assets at a lower price be held as violative
of public interest ?

(d) State relevant provisions of the Companies (Amended) Act. [25]

Q.2) Mr. 'A', an industrialist, is the manufacturer of pens, chalks, dusters
and other education materials. There has been a persistent complaint
from the customers that the chalks manufactured by him, have a lot
of dust and it is troublesome to clean board after writing. The Research
and Development Division of Mr. 'A' came up with an innovative chalk.
The chalks are absolutely dustfree and the writing of the chalks gets
vanished automatically after certain time.

Mr. 'A" applied for registration of the patent for this product and has
got the patent. Subsequent to the patent granted, he continued with
the production for five years after which he stopped production. The
reason was lack of demand because of heavy cost of the product.

Mr 'B', a College Teacher, independently made research on the similar
type of chalks and came out with the same quality chalks with much
less cost. He applied for patents which was objected to by Mr. A
on the ground that -

. Patent for the same product is registered in his name.

. The product developed by Mr. B is not an innovation but it is
the imitation of his patented product.

Mr. B claimed that —

. The product patented by Mr. A is not in use as he has stopped
production.

. The product invented by Mr. B is different than that of Mr. A's
product in many respects such as shape, quality, cost etc.

. Mr. B, who is a lecturer in a Government College, has carried
out research on this product as a part of his academic work.

. He wants to produce chalks exclusively for the Government
Colleges.

Discuss rights of Mr. A and Mr. B as per the provisions of 'Patents
Act, 1970', [25]
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Q.3) In an E-trade Agreement, Signature is based exclusively on asymmetric
methods or techniques. It has been described as a special door, which
can be opened with four keys lock. The two keys are on every side
of the door, and each of these two keys belong to a single party,
both the parties stand respectively on each side of the door and both
of them have different keys. One of them is co-incidental with the key
possessed by the other party, since they have agreed on the shape
and notches in the key (Public Key). However, the other party is not,
and none of the parties knows exactly, what kind of notches the other
key will have. One thing is sure that the door can only be opened
when the four keys are in it. Once both the parties have locked the
keys into the door it is possible to open it and for the parties to be
sure that, they can negotiate through that open door safely without
fear that an outsider might interfere in their business.

Discuss with reference to the authentication of electronic records using
digital signatures. [25]

Q.4) Nirma India Ltd. (Plaintiff) is the leading manufacturer of various kinds
of soaps, detergents, chemicals etc. The different products of the
company are sold under the brand names and the company enjoys
considerable goodwill and reputation in the market.

Wheel Soaps Limited (Respondent) also manufacturer of various
brands of soaps and detergents is one of the competitors of the plaintiff
company.

The plaintiff company holds and owns more than 171 active patents
granted by the Government of India under the Patents Act. The
company claims that the respondent had access to the specification
of patent number 170171 and they have wrongfully and illegally copied
and materially utilised patented information resulting in infringement of
the said patent of the petitioner.

It is further claimed by the petitioner that the toilet soap of the
respondent has been sold under the trade mark NIRMA PLUS, has
a wrapper bearing words 'ALL NEW’ 'LONGER LASTING SOAP'.

This misleads and makes trade and public believe that the toilet soap
is an improved product. Such wrongful and illegal acts of the
respondent cause to the petitioner company an irreparable loss, damage
and injury.
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The respondent company claims that —

. It is a multinational company and pioneer in the field of
manufacturing of toilet soaps in India for the last 60 years.

. The respondent company has been utilising various admixtures
of various soaps. They did not apply for patent for such
admixture, as the substance obtained is not an invention.

. The patent in question is a new one, the validity of which is
under serious dispute or challenge.

. If the plaintiff is granted an injunction at this stage, then it would
enable plaintiff to appropriate a large chunk of the soap industry
to itself and would adversely affect healthy competition.

Discuss this case with reference to the Patents Act. [25]

Q.5) World Trade Organisation many a time is called by many people as
a 'Wrong Trade Organisation'. The same feeling was demonstrated by
many organisations, particularly Labour Organisations.

It is said that it is a Wrong Trade Organisation because it involves
itself with trade which spoils environment and promotes unacceptable
working conditions for labourers in the poor countries. It is felt that
World Trade Organisation causes greater damage to the Global
Environment. The main claim of the demonstration at Seattle was that
World Trade Organisation is not doing anything to ensure that the
products produced in adverse working conditions in different countries
do not enter the stream of globally traded items. The question is whether
it is the business of World Trade Organisation to do so. Is it that
the World Trade Organisation should get involved itself with the labour
and environment aspects of production and trade ?

There are some who argue that the effort to involve World Trade
Organisation with labour and environmental aspects of trade and
production is actually a part of larger effort by some developed
countries. The obvious reason is that the poor countries have lower
production cost because of cheap labour and not very high working
conditions. This enables poor countries to lead global market over the
rich countries.
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If both these claims are said to be correct, then World Trade
Organisation is deemed to be influenced and controlled by the wrong
people.

Discuss in detail :
(@ The basic limitation of World Trade Organisation.

(b) To what extent the World Trade Organisation should and can
interfere with the working conditions ?

(c) Is it fair to call World Trade Organisation as a Wrong Trade
Organisation ? [25]

Q.6) Shri S. P. Morgan started using the Mark "Container" as a trade mark
for his freight containers. He spent a huge amount on the advertisement
of such freight containers, so that they became very popular in the
market. After ten years, he applied for registration on the ground that
his freight Containers acquired 100% distinctiveness. The registrar
refused registration of the trade mark objecting that the trade mark was
descriptive word directly indicating the nature and character of the
goods of the trader.

Discuss this case with reference to the relevant provisions necessary
for the registration of trade mark and advise Shri S.P. Morgan to defend
registrar's objection. [25]

[4070]-413/5



Total No. of Questions : 6] [Total No. of Printed Pages : 6
[4070]-413
A HUTAT
d% : 3 dw] [T$oT 01 : 100
Q?FIT by

(1) FHIUrETEt IIw FET Figar,
(2) Td FoATAT FHATT TUT 3ATET.

9.1) IER IMEA e Fur fa. (D) T qut ffer fof. (d.UeTd.),
ST g foaX fa@. o1 TidWge Fusil Th WEdd &l M8 -
I FAAT A, AT TESY, T TAT IAEH Ted. IABI T

9%80-0Y UTYH Tleald 3OS [qal 3T HuArdT &ofl  (Hoaal.
BB FAAE HEA TLUA.TA. AT FAH BRI TIH T

. [aN [aN o
Ch“lﬂl-‘(’ﬁ UhlpUT pUYd SHd,

FEBUAT T UL.UA.TA. T WBRAT. Sl U TOcds S5,
TEHET ATTIRE, FoGaRE T AUl THIHOmal T AT Hal.
TUY, AHATT TP WHT 90T HIOTT S WRTRST 3107
BTHBAT S TISHT, THIBOTAT TTAAT [0 BT, TIUema HHRoT
3 - IH Sooi=, HUHT BT BTG AR, TH.IMCELTT.
dfde (M.R.T.P. Act), SEei=® fedrerm Ui AT 31aea.

TEE I AT ATATAATHRS [ qratquara 3Tal. HTeld redid,

FROTHIET A Ad HIGH IURAT Holedl FAEeer ==f & ¢

(30 ‘ULUA.TA. T 4% U SRA AT UHT faaefl HUAT S,
& I Arase fEarer et  Hee e,

(F) THEHOTAT AT AT TG FAAT TAAT AT, TS & AT
TR, 3 (M.R.T.P. Act)T Icig" HOTA 3@ HBT 9

[4070]-413 7 P.T.O.



(F) FH FFAd dui g5diaeor & Hrdsii=re fedrear et g% /o
HT 9
() FURA FUAT PEANWA FId qegal T, [25]

g.2) ot 37 B UH, TTF, ST T ga¥ JANTE Wiedi™ IAEA FON ITSD
TR, AT IS Doidd T, AT G5 0T FHIATM. TROTHT HAD -
ST gEaT fa9 T g, 31 AEdsral Aaegel diR IR,
AT 0 e WAleH T e fOWETH Aol Eget M et
g g JUTI0T eAaRied JTMad AT TafTse HIATaevay BAHay [orectel

HlRT ATII[TT YHAT STIdl.

ST I BT BT SAATSATAT WTHIC-BFBTeAT AIGUNETS 3157 BT STTT
qr AT IT AT, WA &b 9T STed =Y &=t 9 99 & 3cqTa
T ITA. THAT AT E IHEA §F Dol T BROT TS AT

THTOTERIA 3G STATHes [ATOT STl HARTOf=ET ST a &M

AT BT AT RIETHH W90 ETE GhRT HeaY WL

HA MM TF PrEGD TG FAT FA [THAT D, AT WA

EIHTAST S BT WG A A 31 FFHT T HATAT SR AT
gadr —

. B SR WA EFhTEl AGUl A A S 3T,

. T A O Bod SMEA € AEgel AgA A e
[ [
WA 96 T STl A9hA 3TTE.

St 9’ T AT ST bl B —

. 8 7 Y SR P W SEA 8 AT A o 3T
[aN C (' o
. 3Tdh diddid, J3<l. 3‘||¢bl’{, ‘\!}UICI‘('II d ¥ Sl TdHIL <bdl

o

At T BT [THNT AR IAEA &I TTAT IEEARA

TR

[4070]-413 8 Contd.



. Y ‘A B IAMHBIT HENTATAITHE SEATIT 3TTad. AeIfUTes hrHT=T
AT UE A BT IATGATEY. WA Sl 38,

. O PIS% DY AECAEAERE TG IAEA FO Fresdrd.

@I &6 HUaET, %o (Patents Act, 1970)=T TEEAR &t 37
T o T EITAT EERIAEAT T9l [25]

7.3) T-HMUR TG e & 6 TA0EES TGl (bl qaras raaeH
AR, WX @Werd & [ S WuH W Hgd el 3gA at
ST IR ATATHGR ITSAT IS THdl. IT ST FAe! JTed

g S T ARG STOT &1 S ATSATUDT TH ATl Tl qeTT=
ATABE! WA, ST TIF AT §Hel 987 H=-fA= aremied
AT IW ETATd. ST TeTTUh! THT TLTST aTedTd TN H=T 98T
Tl TS hd, B, SAT-EW o AT ATIHAT 3T ST ST dererd

AT A, (AT ATE) 3 AT HAW. g AT IR I

HIOTITE! TETTAT ST AT HIOTET TR JTET M & ATl AU,
Uy, g A MRYd 3R @, S 9¥d IR &1 IR 9Tl SaTSaT]

DIl odldedl STYTIR "llé\ld, ar wid SECISIESESGIRS IMIR "llé\l. Uchal

SITEl 98T 3MMI-3MIeT ATAT SRATUTAT FAUTAT @A al IHSAT g
TrET QTeAdt ST, AR & SIATST FRIGTT STOT FHIOTHTEr FIATIRIETT

SUSTTHS T FicTon HIATA, T TR =T AT FTATITA RIS

SR ICT 8{*\183@ EAG] q%("l.

$('1<4’§'<ll"|°b HNTEIATAT 37T edd=dl W‘Iﬁﬁ' TATOTh W?Hﬂl‘dl IAAT H¥ord

CEIG T [25]

9.4) ‘TIeT gean fataee’ (TRafsh) & @uer fafae gerd JmEer, fSesiey,
W AT IS HOT TH IFWAT HUAT MR, BT [aiaer weprt

IETE 3T AN Fagiaiid [l HAq AT HUAAT STeIRISd
ST THIUTEGRY ATaciiihes  WassT YT STl 372,

[4070]-413 9 P.T.O.



Tea e @ (FfaaEn) & ot 39| fafay gyeren |eEenen 9
fecsiea Seqd SHEA B AT qf TH TRIE! Ul TEH IR,

fFaar SUr, ‘T Eeam fd) F WG ARhRegA Uee HEEad 20?
TeTT SR HEMAT UecH IR0 B 3MMad. TS S AT STaT FaAl
e B, T(AATEr FIAH TS FATE 2000 ITT TARTA TROT HAAT YA
T TR SedT WY T IHFERTRRET I FIG 3. & i

o C * - .
R AlHAPIRAT™IT HSC gapl™ Jevd™d pRUTIR 3T|%

T Faars! A T @@ 91 AR AR qd 9 S
fCHOT WIEOT AT AETAT AT (bl Beiam M@, AT JHr=
FUTA FATIS IR T AT IT [N [T HATEA Detedl
AR T FACAT I dled i, B FEresar W FTRa Foird Ied1a-
32, s WhATaT HUAIAT HHT T Hreal TR dlel, BH1 T IAT Jigd.
giqarst PUAE I JMET BAAT MR B —

e T HUAI TEUGT HUAT YA AT o IUIRYA IHTe6d HTET

i ST ded ImwT IR,

. giqaret su=t fafoe ger=ar qeor=ar o= gt . 3™
TR0 ToT ATA FTed ST ATed. TTHes AT e THeaauaraTat
3 SREA Bl ATEL

e  UTCT B UF TG W WA ATHr JIAT & TH THR HAgrdr FIar
TR TET T,

e SR TRUTST FUFIAT 29T AT ZHHA (ST AT HUAT ATIUT JTRHERA

HISIT JATOTER TS T5a ST AT Y36 ey faudid aRomH
I

Ude HEATAT HIWH IT FHEET T4l B [25]

[4070]-413 10 Contd.



o . 9 O

9.5) 3% AlF SEah SR FaSAdl Ieoie Tgdes 98l Tohidl TN
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M. Com. ( Semester - 1V) Examination - 2011
CO-OPERATION AND RURAL DEVELOPMENT
SPECIAL PAPER - VII
RECENT ADVANCES IN CO-OPERATION AND RURAL DEVELOPMENT
(Group - F)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) Figures to the right indicate full marks.

Q.1) Discuss important Co-operative Principles. [20]
OR
Q.1) How is Leadership important in the Development of Co-operative
Institutions ? [20]
Q.2) Discuss impact of Globalisation on the Co-operative Sector. [20]
OR
Q.2) What should Co-operatives do to survive Global Competition ? [20]
Q.3) Discuss merits and demerits of Micro Finance Institutions. [20]
OR
Q.3) Critically reveiw performance of Self Help Groups. [20]
Q.4) What reasons have been cited for Farmer’s Suicides by various
Committees ? [20]
OR
Q.4) Critically reveiw measures adopted by the Government to address
the problem of Farmer’s Suicides. [20]
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Q.5) Write short notes : (Any Two) [20]
(@  Sickness in Co-operative Institutions

(b)  Women Empowerment Through Self Help Groups
(c)  Self-sustaining Rural Development

(d)  Marketing of Self Help Group Products

[4070]-414/2



Total No. of Questions : 5] [Total No. of Printed Pages : 2

[4070]-414
AET HUTER
9% : 3 am] [CFOT Tor : 100
qAAT
(1) @& goF FIraor 3ifrard 3.
(2) ITEtwSIT 3fF qof T FOffaara.
(3) TS oz YT FIAUIAHT TgTdl.
9.1) WEhRAT HETAT dxdierad Ol @, [20]
Tehar
7.1) WEHR SRl [qeWa Adard $ A W 9 [20]
9.2) WEhN STTaY STRTehipIor=aT JHTEar =<l &, [20]
Tehar
9.2) SIWTae Wod 3IRad STUaES! TEhil SRl & $d uiest ? [20]
9.3) geH fa dui=n wEEn-dledral ==l F [20]
Tehar
9.3) WIUEETHAT AT FANRE  SIhioAs  qagTor 6. [20]
7.4) fafeaer gfaciet sawai=ar T GaWid Hivrdr SR fSdet smea ¢ [20]
Tehar
9.4) OHEITAT SMHEAT YTTOIATS! TiTeiedT AMFHT TS SIhIcHP
qReror T [20]

[4070]-414 3 P.T.O.



7.5) feuar foer @ (HorErd q9) [20]
(37) TEBN TR ITSARY0T

(F) TEEEAAT TSHATET N qGTHIEHOT

(F) FAHT JrHATT o

() TUHEAT ST IATEAT 9o

[4070]-414/4



Total No. of Questions : 4] [Total No. of Printed Pages : 4
[4070]-415

M. Com. ( Semester - IV) Examination - 2011
CO-OPERATION AND RURAL DEVELOPMENT
SPECIAL PAPER - VIII
CASE STUDIES IN CO-OPERATION AND RURAL DEVELOPMENT
(Group - F)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) All questions carry equal marks.

Q.1) Analyse the following case and express your views about related issues :

A Small Scale Agro-Industrial Co-operative Society was established in 1997
with initial investment of Rs. 1 crore to manufacture jam, squash, fruit juice,
biscuits etc. The Co-operative Society grew over the years and its turnover
at the end of 2010-11 was Rs. 80 crores. It also performed very well against
large scale competition from Parle, Pepsi, Britannia, mainly due to quality
products which was the prime consideration. It was, however, noticed that
the society has yet to accept concept of professional management. It can
even do better than what it has been doing at present if adequate Marketing
Research and Development and Product-mix Strategies are adopted.

Mr. Ghatpande, the Managing Director of the Co-operative Society, was
thinking of making a big entry in the market for soft-drinks. He, in
consultation with the R and D Manager, has decided to manufacture product
and pack it in plastic containers of 1 litre, 500 ml packs against glass bottles
which cause heavy loss due to breakage.

Analyse this case :
(@ Discuss methodology of testing acceptability of the new product.

(b) How would you position new product in the market ?
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(c) Do you think that the new product will reduce cost ?
(d) How to implement Concept of Professionalisation ?

Q.2) Mr. Balwan was an operator in a Bajrang Co-operative Sugar Factory, Dhule.
He was in the sugar factory for more than 10 years. A matriculate, fair
complexion, good height and physique, soft-spoken, always putting on a
smile are some of the personal details of Mr. Balwan. He was drawing Rs.
8,000 p.m. when he was recruited in 2001 and by the dint of hardwork,
sincerity and honesty he got quick promotions. In January, 2011, his pay
was Rs. 15,485 p.m. He was placed in Highly Skilled Category.

On 20th March, 2011, while he was working in first shift, he committed
a mistake which involved a net production loss of Rs. 5,00,000 to the Bajrang
Co-operative Sugar Factory. The Production Manager held him responsible
for the loss and asked Personnel Officer what action should be taken.
Personnel Manager said, “We will dismiss him”. Production Manager said,
“No”, he is very good at work, very sincere. This was the only mistake
done by him. | do not know how it could happen.

Personnel Manager called Mr. Balwan and asked him questions. Mr. Balwan
admitted his mistake in writing and requested management not to terminate
his services but to excuse him.

The Personnel Manager dismissed him from the services. Mr. Balwan
appealed directly to the Chairman of the Sugar Factory.

Give your decision on the appeal with reasons, assuming that you are the
Chairman.

Analyse this case and express your views about the following :
(@ Decision of the Personnel Manager

(b) His Promotions

(c) Opinion of the Production Manager

(d) Probable Decision of the Chairman
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Q.3) Kolhapur Dairy Co-operative Ltd., has got a number of drivers and many

Q.4)

service trucks for transportation of milk from Kolhapur to Mumbai, Kolhapur
to Pune and Kolhapur to Goa. One of the truck drivers, having 28 years
faithful service and no blemish record in the past, drove his vehicle on
the wrong side of Mumbai - Goa National High Way, struck a car and
killed 3 persons. He was also severely injured and was not expected to
do his normal duty.

In view of the above serious condition of the driver, the Kolhapur Dairy
Co-operative Ltd. did not take any disciplinary action against him at that
time. The company also paid him all the sick benefits and hospital expenses
as per settlement for 6 months. The expiration of 6 months period is coming
to an end and the driver is still in the hospital. According to the Doctors,
the driver will not be able to return to his job within the reasonable future.

Discuss in brief with reasoning :
(@ What action should be taken against the driver by the Management ?

(b)  Whether he should be charge-sheeted and enquiry held or simply
discharged as per service rules.

(c) Whether the management was justified in not taking any action against
the driver immediately after the accident.

(d)  Whether the driver is entitled to claim compensation for accident and
injuries caused to him in addition to retiring benefits.

A well reputed Food Processing Co-operative Industry was working in Nasik
District for about three decades. The Board of Directors of Co-operative
Industry has recently decided to expand its production. It was decided to
shift industry to a new location about 30 km. away from its present site.
For want of experienced hands some of the workers were transferred to
the new site. As the workers transferred to the new site were living in town,
the union demanded increase of Rs. 600 in their salary. But the Chairman
of Co-operative Industry offered to give Rs. 500 only to cover transport
cost.

When the plant was being shifted to the new site negotiations went
uninterrupted between the Management and the Union on the issue. However,
both the parties could not come to a settlement even after 2 months.
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The Management was firm on their decision even though the Union indicated
some flexibility. The Union refused to compromise fully on the issue. They
adopted go slow tactics to pressurise Management. The production went
down drastically but still the management was firm on their stand. In the
mean time the management charge-sheeted some of the trade union leaders
and suspended them and the enquiry was pending. Make detailed analysis
of the case on the legal and other grounds and also discuss about the
following questions :

(@ Do you justify Management Decision. If yes/no, why ?
(b)  Are the workers right in their approach ? Comment.

(c)  Whether the Management Decision is right or wrong. Comment.
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PR T TEHN TRFE FlaTRX o H{dg, B o Iof T FleadT d
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HIUT TE AT q9d ORIV TG BEe S=&= S, § Atgarar Hraradt

TUd 3MAT aEr e BibeaHed gal. Siaedi=l Ad ASieT AITIHhead
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(F) FUSTHT T BESLNT BT T DB Har Thar et har daes

BN BIGT (HE 7

(F) ST AR iiod FEETAT UL Taea—i— SRag Hadl
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T BRETATAIA Hlel JTHAT BRI T RSN TS BLOATd 3Tl
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M. Com. ( Semester - 1V) Examination - 2011
ADVANCED BANKING AND FINANCE
SPECIAL PAPER - VII
RECENT ADVANCES IN BANKING AND FINANCE
(Group - G)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) All questions carry equal marks.

Q.1) Explain Concepts of Bank Guarantee and Dematerialisation (Demat) in detail.
OR

Q.1) Write a detailed note on Customer Service and Importance of Customer
Education.

Q.2) Explain various ways of Electronic Funds Transfer.
OR
Q.2) Write notes on the following :
(@ Relevance of Development Banks

(b)  Universal Banking

Q.3) Explain in detail the Money Market Derivatives.
OR

Q.3) Explain in detail the changing trends in Foreign Institutional Investment in
India.
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Q.4) Explain in detail the recent developments in the Indian Capital Market with
special reference to :

(@ Book Building
(b) Listing and Trading of Securities
OR
Q.4) Explain the following :
(@  Online IPOs
(b) Depositories

Q.5) Write notes : (Any Two)
(@ Motives for Bank Mergers and Acquisitions in India
(b) Over the Counter Exchange of India
(c) Repurchase Obligations
(d) Certificate of Deposits

[4070]-416/2



Total No. of Questions : 5] [Total No. of Printed Pages : 2
[4070]-416
A HUTAT
9% : 3 Am] [CFOT TOr : 100
Q?FIT by
(1) qF 997 FILravr yf4ard 31z,
(2) §F AT FHT T I7E.
(3) WEHNIST He5 A GIA9rHwT qigrar.

7.1) % Al 3T THSiRTeEglse 91 ¥dedaT Whay W &
fpan
9.1) UTed Hal M7 ATed R0 A T8 |ia? g forar.

7.2) et seaiaeome fataer soagii-e AN T 6.
T

9.2) T Hheddl TS FI

(31 Tawe St wRgadn

(T) g &feT

9.3) AUESIRIT ATaia? iy &g et
T

9.3) ARAMIA [qasit SRS [qaubidid dadd $a T $H.

[4070]-416 3 P.T.O.



9.4) TEA [T Esd ARG Hisad IeTRIAE Ferar (96 Jiaway. T
B

(31) q® SOl
(F) oW TRE!, fat g
TFar

9.4) TAIA HheadT TS FIO
(37) 3TAcTST 3TI.YL.3T.
(F) fedilzeds

7.5) feur forer @ (FioeEEt  9)
(31 WRA % AfaAeor § JUEA JEEid &g

(T) IMET T Bl TIEAS 36 e

(F) TAGRGET e

(3) IT YHOUA

[4070]-416/4



Total No. of Questions : 7] [Total No. of Printed Pages : 3
[4070]-417

M. Com. ( Semester - 1V) Examination - 2011
ADVANCED BANKING AND FINANCE
SPECIAL PAPER - VIII
CASE STUDIES IN BANKING AND FINANCE
(Group - G)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) Solve any five cases from the following.
(2) All cases carry equal marks.

Q.1) Mr. ‘A’ has a Savings Bank Account with Bank of Hindustan. Mr. ‘A’
wishes to open a fixed deposit account with the same branch of Bank
Hindustan, where he has the Savings Account. Based on this information
answer the following :

(@ Can the banker take Mr. ‘A’s Signature as his own introducer for
a Fresh Fixed Deposit Account ? Justify your answer.

(b) Can Mr ‘A’ have two different persons as nominees to these two
accounts ?

(c) What is your understanding of a Nominee ?

(d) In the above case the two nominees are not the legal heirs of Mr.
‘A’. Can the legal heirs of the accountholder claim money in these
accounts without being the nominees in the event of Mr. ‘A’s death ?

Q.2) A Customer wishes to open an account with your bank. She happens to
be a *‘Paradahnashin Woman’. How would you transact with such a
customer ? You may also have to transact with illiterate, minor, lunatic and
drunkards. How would you deal with such special type of customers right
from account opening to day to day transactions ?
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Q.3) A Businessman has an account with Bank of Mysore. He deposits 4 cheques
amounting to Rs. 800 with the bank. After a week he draws a cheque for
Rs. 500 to pay to a friend. The bank dishonours this cheque of Rs. 500
with a remark ‘Refer to Drawer’. What action can the businessman take
against the bankers, if :

@)

(b)

(©)

(d)
Q.4) (A)

(B)

The cheques for Rs. 800 have not been collected by the bank because
they were sent three days after receipt by the bank.

The cheques have been collected and credited to the Customer’s
(Businessman’s) Account.

The cheques have been collected and credited to the account of a
wrong person.

Two cheques from out of 4 amounting to Rs. 300 where dishonoured.

Mr. Manoj applies to Bank of Tamilnadu for a loan of Rs. 1,40,000
for the purchase of an auto-rickshaw. He wishes to generate income
by plying the vehicle as a taxi. He would repay loan from out of
income so generated. As a Branch Manager what precautions would
you take before and after disbursement of this loan ? What documents
would you obtain for granting such a loan ?

After six months, if he defaults and does not respond to your follow-
up letters demanding repayment, what steps would you take to recover
dues ?

Mr. “X’, Customer of Bank of Rajasthan, approaches bank with an
F.D. worth Rs. 1,00,000 issued in his name by Bank of Bengal. Mr.
‘X” wants Bank of Rajasthan to extend an advance against this fixed
deposit. How would you, as the Manager of Bank of Rajasthan, deal
with this proposal ?

Q.5) You are an agent of a newly established bank. You are approached by some
persons for the following types of loans :

@)

(b)

[4070]-417

A person wants a loan of Rs. 40,000 for starting a photocopying
business.

A student wants a loan of Rs. 2,00,000 for completing an M.B.A.
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Q.6)

Q.7)

(c) A person wants to purchase 4 buffalos worth Rs. 2,00,000 to start
his own small dairy.

(d) A person wants to start trading in the share market and wants for
the same purpose Rs. 10,00,000.

Can such loans be granted ? Discuss each case separately. What documents
are to be obtained in case of grant of such loans ? Do you think a Guarantor
in each of the above mentioned cases is essential ?

Mr. Siddharth has a cash credit outstanding in his name worth Rs. 1,00,000.
Due to some reasons he was unable to repay instalments and the current
overdue is Rs. 40,000. Mr. Siddharth has a savings account with the same
bank held in joint name with his wife.

He also has a F.D. with the same bank in joint name with his minor son.
The balances in F.D. and Savings Account are sufficient to take care (off-
set) of the overdue amount of Rs. 40,000. In addition to this he has a
recurring account in his individual name (sole name) but it has not matured
yet. To recover overdues, how would you act as a Branch Manager ? Discuss
each case independently. In case he did not have any such accounts how
would you have recovered overdues ? Would you wait for the recurring
account to mature to square off the overdue amount ?

Mr. ‘A’ holds a Fixed Deposit Account with Bank of Jammu for a period
of 5 years. Mr. ‘A’ wants to withdraw money from the said account
prematurely. On the basis of this information answer the following :

(@ Is withdrawal from the Fixed Deposit Account permissible ? Justify
your answer.

(b) If *‘No’, what are the ways in which Mr ‘A’ can have access to
the amount in FD. ?

(c) If Mr. ‘A’ decides to break F.D. in the very first year from the date
of F.D. would Mr. ‘A’ have to lose some interest on the fixed deposit.
Please clarify in detail.

(d)  While opening fixed deposit account with this bank Mr. ‘A’ deposited
money in cash. He does not hold a savings or a current account
with this bank. On maturity of this F.D. 5 years later, how would
you make payment ?
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M. Com. ( Semester - 1V) Examination - 2011
ADVANCED MARKETING
SPECIAL PAPER - VII
RECENT ADVANCES IN MARKETING
(Group - H)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) All questions are compulsory.
(2) All guestions carry equal marks.

Q.1) Explain concept and process of Integrated Marketing Communication.
OR

Q.1) Explain ethics and social responsibilities in Integrated Marketing Commu-
nication Campaigns.

Q.2) State Competitive Advantages through Relationship Marketing.
OR

Q.2) What do you mean by Retail Management ? Explain importance of Retail
in Indian Vs Global Scenario.

Q.3) Descibre New Trends in Retailing.
OR

Q.3) Define Concept of Strategic Service Management. Explain Sustainable
Competitive Advantages of Strategic Service Management.

Q.4) Write a detailed note on Evaluating Marketing Communication.
OR
Q.4) Explain in detail the Strategic Role of Marketing Services.
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Q.5) Write short notes : (Any Four)
(@  Media Management
(b)  Relationship Management in Industrial and Consumer Products
(c) Retail Supply Chain Management
(d) Role of IT in Retailing
() Managing Reverse Logistics

® Data Base Marketing
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M. Com. ( Semester - 1V) Examination - 2011
ADVANCED MARKETING
SPECIAL PAPER - VIII
CASE STUDIES IN ADVANCED MARKETING
(Group - H)
(2008 Pattern)
Time : 3 Hours] [Max. Marks : 100
Instructions :
(1) Part-l carries 25 marks and Part-1l 75 marks.
(2) Figures to the right indicate full marks.

PART - |
Q.1) Explain advantages and limitations of Case Study Method. [15]
OR
Q.1) Explain different types of Cases. [15]
Q.2) Describe steps in solving Case Study. [10]
OR
Q.2) Explain various Approaches to Case Study. [10]
PART - Il : CASE STUDY

Q.3) Attempt any three cases from the following :
Case No. 1 : The Problem of Unprofitable Orders [25]

Shri Vinayak is the Marketing Manager of the Company. This Company
manufactures tin sheets and markets them in the State of Maharashtra,
Gujarat and Madhya Pradesh.

Company has been receiving small orders since last one year. Though
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these orders are large in number but they are not giving profit to the
company, because company has to spend on transportation cost and
overhead cost. Company is not profiting from such increasing number
of small orders. Majority of small orders have been coming from
customers who have had a long time of dealing with the company,
which is a main worring factor faced by Shri Vinayak. While Shri
Vinayak does not want to lose such loyal customers he also knows
that something has to be done to make sales more profitable to the
company.

(@  Analyse this situation.

(b)  As a Consultant what advice will you give to Shri Vinayak to
overcome this problem of small orders.

Case No. 2 : Sky Bag Limited [25]

Sky Bag Ltd. is a famous bag manufacturing company, facing a serious
set back in the market. Main reason is the dealer promotion scheme
adopted by their competitor ‘Super Bag Limited’. This competitor
company offers discount as well as Singapore Tour to the dealers who
sold 30,000 pieces in a year.

Sky Bag Ltd. offers discount direct to the customers plus they provide
good service and quality products. Now they do not know how to
handle promotion scheme of their rival firm ?

The company appoints you to offer sound marketing advice with special
reference to promotion policy.

Case No. 3 : “‘Nishigandh’ an Urban Consumer Co-operative Store [25]

Nishigandh is an Urban Consumer Co-operative Store, functioning for
last six years in ‘Kirana Goods’ with success. The membership is now
about 60,000. The store operates through its four branches situated
at prominent places. The store has now decided to enter into the field
of marketing note books for school and college students. Note book
manufacturers are willing to supply as many note books as the store
may demand.

Write a detailed note on Marketing Strategy that should be adopted
by the store to expand size of this new area.
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Case No. 4 : Case on Market Segmentation [25]

Mr. Parag is a Marketing Manager. His company manufactures ball pen
and pencil for students. Company intends to market its products in
Pune City region. In Pune City there are 20 such type of competitors,
producing and selling the same products.

You as a Marketing Consultant, advice Mr. Parag about strategy to
be followed for market segmentation and expansion of market.
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